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podicn G (Gadadl @ld cilbgaally uslgll wadl @l @lbgamelt § bl @i Cagw su gl 02a 2.
@l8gamall 510 @il slae] Lass mus g po L 2Blgll joms g ilbganll Cayyal Lo 75 80
sae ol pas jaie e Eodly cilbganall jolic coi aldee 7ido asiing LS lgayal dic

lagamtly dsleill pyladl fpa due cUlia Jnall 1aa Ll 2 g .ulagantl 2 wslic

: L ablgd |y g Olbgdual! i pad

((dazd paliydl 2an 5% b)) LB3e 50l Lad ULl 00350 @b ¢3lse e Bl o Slasacall
ULl (ot 5,210 2 5 yplmil] aBlsll e duzme die jos @ Laelid]y d8gdiall Cayyad ey
(Index) g2sll @3y dagaiall @l Gipb (e 2315l oo 2. Ljiell Gllull Joo sl @l Eo < Lgad
el) dodd saly @l el @l e dume e due 30 o olbsanll alusnul e Ll
Jaiia (Variable) ,uie 2 iad J< onpsn S isbadl (gs (Rogaall

b Leo i @y G L 315l S g Lgdpal (e Y alipdl 2. ciliginall aluziny
1. int arrayl[];
2. arrayl[] = new int[9];

210t § 95 e el (u)>d adation LT T ¢Int g 43 (o arrayl dogaiall canypad @3 (V) @3y Hlaudl 2
235kl JI yio @3 gkl (e) Lasaunll odd pdlse & jma @3 (V) @d) ylacull 2 Loty d85aiall ola
crilendl mas Sy Laso dbgiall sia 2 5l Ll dnmmis slael 4 (330 adaiad! (A @3,

b Leso maatd sus |y Alasny x|
int arrayl[] = new int[9];

A Pl Al el Hliss Sy
int[] arrayl = new int[9];

(V=) Je=idl 2 Less array | dvsacmall p305l0 S @y
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arrayl
> 0 0 0 0 0 0 0 0 0

7 86 Index > 0 1 2 3 4 5
(\-)) Jemi

() Basdall eeol sy daye GolsBl o cifny Kasdaall 2 il aBse @by (loly i 2
I Hams mimo dAe 9o Goled! Lla 29 (dogawnll %é}l‘ (z&) Jian kuT IGIEN cﬂI‘I’ﬂYl[k]
qu&&lé‘}“ aMﬁE)TuLﬂ M}Mé‘}l‘wnpm 4‘5\.: Jﬁuﬁ(@w‘jﬁmﬂ

.n-1 3\:'\.5_73

o 15y ¢Bapieall Cayad e Lausass ol adluil Lad D paunell sios o (oyhis | Jomdn pdaiad
e clihg dagaall ¢4t (Default Value) L5801 dadll (s @ dils L5l Lq:é Bgdmnall dusd
il Less o ¢ 15U AGLANTN @ uallg LY plsll S

int, byte, short, long - 0

double, float - 0.0

char 2 w0000 §!,s
String -  null
Boolean -  false

Pl 4G el 8 gamell LAY @il s S
int ages[]= {20, 18, 34, 42, 28};

S e G I Lesd e Uiy <2ES Loassl dgiine Canpaty Licd dlomdl ol M5 (e
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ages
» 20| 18 34| 42 | 28
Index 2 O 1 2 3 4
(Y-)) J=i

ielb abid Eos cages[3] S Jss i) alusial coy ages dagawmll 242 (5,10 Jow 5l

System.out.println(ages(3]);

A dleadl oyl oy 42 <311

A Aleandl 2aB Coms ¢ 18 oy Linge 53 unatd 1 3y 35l 2 &5l o] Juonsils

ages[1]=53;

/[ arrayl.java
public class arrayl{

public static void main(String args[]){

double a[]=new double[10];

1

2

3

4 for(int i=0; i<10; i++){

5. afi]=i*2.5;

6 System.out.printin(a[i]);
7 } // end for

8 } // end main

9. }// end class arrayl

V=) e

:JEL CJ.ZL
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=+ C:WProgram Files\Xinox Software\JCreatorV3 LEAGE2001 .exe

20.

22.
Press any key to continue..._

-
| | >

(¥-1) Je=i
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u
nn © v O v O

:Y=) 1 Ll
/[ array2.java
1. import javax.swing.*;
2. public class array2{
3. public static void main(String args[]){
4 int b[]=new int[5];
5. String s;
6. for(int i=0; i<S; i++){
7 s=JOptionPane.showInputDialog('"Enter a number:");
8 b[i]=Integer.parselnt(s);
9. }// end for
10. for(int i=0; i<5; i++)
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11.  if(b[i]>=60)
12.  System.out.printin(bli]);

13. }// end main
14. } // end class array2

tJEL

@ (A1) V2 dagiall ol aBlse 0 jo @iy b Lgacs! D0gdns cayyaty Liad (£) @3 placdl 2
b saall ciligims delds fdae @3 (VY-)0) Hlan¥1 2 9 b dogaall 2 Loy @il @ Jla|
zolipdl asdy s day b B3saall 2 Lgi it el 5y 0 Jaol auseicall by malipdl ola a5y G
renlayd| Jof eslidee o (80)) J&sialdly 1 (gobad 9T e 33 Gl byl deliday

Enter a number:
47

Enter a number:
Ta

0K Cancel OK Cancel

Enter a number:
la3

Enter a number:
B0

| OK || Cancel | | OK || Cancel |

Enter a number:
72

OK Cancel

(£-1) Je=i

s Gobead! aliydl Sl (0-)) Js=id onw e

¢ C:\Program Files\Xinox Software\JCreatorV¥3 LEVGE2001 .exe X

78
60
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SPPARES PN PV VTSP AP PLURRVSSTIE ST I FUE I
23150 ot (NEW) 533mml| Lelenll it o) o Easiincll £51l Lad sams @I 13 = ¥
Ll 5203 Lo t3gd0nsll
(Default 25abll ol 335 Lol Layysd e L5100l Led Dagamll Ll o 13 - ¢
Lales 5223 Lot B paunall sus 201 (TYPE) g5l o iy 2810l euass Value)
o iz o5 Lgaall enl LS M5 e Bgamall 3)gmall 23l5l) suc D8yea audain - 0
3397l alsll sae 43 yae pdaiad dlexdl ol JM (ye carrayl.length : i) Jength
(arrayl dasacaqll
1A gainll aBlge joma g Loy LU Jles itV as i aladind adaties

|
P

1. int array[]=new int[5];

2. int array|];
array=new int[5];

3.int [] array = new int[5];

4. int [] array;
array=new int[5];
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1. int array[]={5, 3, 8, 9, 2};
2. int array[]=new int|[] {5, 3, 8, 9, 2};

+ Olhgdialf alddilul ole Aol

Y- i gl
//larray3.java
1. import javax.swing.*;
2. class array3{
3. public static void main(String args[]){
4. String s, output, title, strl, str2;
5.  str1="Enter how many number you want to store in the array:";
6. str2="Enter number # ";
7. int n, odd=0;
8. s=JOptionPane.showInputDialog(strl);
9. n=Integer.parselnt(s);
10. int [] arr=new int[n];
11. output="";
12. for(int i=0; i<arr.length; i++){
13. s=JOptionPane.showInputDialog(str2+(i+1)+":");
14.  arr|i]=Integer.parselnt(s);
15. output+=arr[i]+"\n ";
16. } //end for
17. for(int i=0; i<arr.length; i++)
18. if(arr[i]%2==1) odd++; // end for
19. title=""The results of the example (1-3)";
20. output+="\nThere are '"+odd+" odd numbers in the array";
21. JOptionPane.showMessageDialog(null, output, title,
JOptionPane.INFORMATION MESSAGE);
22. System.exit(0);
23. } //lend main
24. } //end class array3



Jo¥l gl ol \8Y o e | A

Sl Y e Gl

Nl 2 g i @) G aaall 13 S Cu @) Jal galipdl by (A-A) Hlan¥I 2
Aol @i 51) Lagaall ol adlgll (pe N due oy AT Lagdiall Canyad @i (V1) @d) Hlacdl 2
oo Il @ (V1Y) JhalN1 2 (raliyll ansiedl Baybs e Gagainell 3)gmadl yoliall sue
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el 2 ¥ clidee o

Enter how manmy number you want to store in the array:
4

OK I | Cancel

Enter number # 2:
119

Enter number # 1:
[34]

| ok || cancel | | ok || cancer |

Enter number # 4:
13

Enter number # 3:
|21

| 0K || Cancel | | OK || Cancel |

=) J=i
tGabedd! maliydl Sl yoea (V-1) Jsmddl (0 pay Leiy
The results of the example (1-3) E|
e 34
: é’é@ 10
21
13

There are 3 odd numbers inthe array |
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/[ array4.java

1. import javax.swing.*;

2. class array4{

3. public static void main(String args[]){

4. inta[]={2,4,5,-5,3,10,4,11,1,7, -2};

5 String title=""The results of the Example (1-4)";
6 String results="";

7.  for(int i=0; i<a.length; i++)

8. {

9. switch(a[i]){

10. case 1: results=results+'"One\n"; break;

11. case 2: results=results+"Two\n'; break;

12. case 3: results=results+"Three\n'; break;

13. case 4: results=results+"Four\n"; break;

14. case 5: results=results+'"Five\n'"; break;

15. default: results=results+''More than Five OR Less than One\n"';

16. }

17. }

18. JOptionPane.showMessageDialog(null, results, title,
JOptionPane.INFORMATION_ MESSAGE);

19. System.exit(0);

20. }

21. }
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A e @301 oles 13 “More than Five OR Less than One™ ilex adaiy dad g usly o

: Golead! alinddl s yime o (A-)) Jsiall

The results of the Example (1-4) @

ﬁﬁ Two

Four

Five

More than Five OR Less than One
Three

More than Five OR Less than One
Four

More than Five OR Less than One
One

More than Five OR Less than One
More than Five OR Less than One

OK

(A-Y) J=i
10-) : Jle

/[ arrayS.java

import javax.swing.*;

class array5{

public static void main(String args|]){
double marks[] = new double[6];
String names[] = new String[6];
String s;
String t1 = ”Enter the Student's name:”;
String t2 = "Enter his mark:";

I

I
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9. for(int i=0; i<6; i++){

10. s=JOptionPane.showInputDialog(tl);

11. names[i]=s;

12. s=JOptionPane.showInputDialog(t2);

13. marks[i]J=Double.parseDouble(s);

14. }

15.  String title = "The passed students'';

16. String results=""The following students are passed the exam:\n"';

17.  for(int i=0; i<6; i++){

18. if(marks[i]>=60)

19. results=resultstnames[i]+'"\n"’;

20. }

21. JOptionPane.showMessageDialog(null, results, title,
JOptionPane.INFORMATION_ MESSAGE);

22.  System.exit(0);

23. }

24. }

JEl

Oyt Sa bt 2Blga T =g doOuble ¢ oi (10 marks Lgew| dogainn Canyad @5 (8) @3 yaudl 2
String 55 (re NAMES Lgow! d8gain0 Cayyad @5 (0) @2) Hawdl 2 Lein Jddsaiall ods 2 el )
pazil (16-2) ;a2 COUAIl clowd oy d8saiall ol ansiain G LY 231500 | 32y
(VoY) Slac¥1 2 g ol cilogiiall 2 Lginyads Liadl ANl cila yng slawel JUsY &l gl
byl T ol 9T pe @aila)s w33 cpdd! Ol elawd 8l @i olgll e I ey
Ssledd 9T e @il 135 il OOl clanl le (g Gllg ol el debibs @i (YY) ol 2 g
zelipd| 2 S clilee o (A1) Jemally 10

-\Y .-
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Enter the Student's name: Enter his mark:
Ahmad 72
0K Cancel ‘ 0K Cancel
Input b__<| Input @
Enter the Student's name: Enter his mark:
Saoud 47
0K Cancel 0K Cancel
Input b__(| Input @

Enter the Student's name:
Khaled

Enter his mark:
A7

0K Cancel 0K Cancel

Enter the Student's name:
Saleh| |

Enter his mark:
45 |

0K Cancel ‘ 0K Cancel ‘

(4-)) Je=

-\Y.
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Enter the Student's name: Enter his mark:
Al | 53 |
0K Cancel ‘ 0K Cancel ‘
Input @ Input @
Enter the Student's name: Enter his mark:

Mohammed 42

0K Cancel OK Cancel

(A-)) J==idl ey

: bl galiyddl b yime o (1 0)) Yl

The passed students [$__<|

The following students are passed the exam:
Ahmad
Mohammed

OK

(V=) Jemis

-Ve o
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/[ array6.java

1. import javax.swing.*;

2. class array6{

3. public static void main(String args[]){

4. int num|[] = new int[]{4, 6, 2,3,9,5,7,2,4,7};

5. String output="The Contents of the array are:\n"';
6. String title=""The results of the Example (1-6)";

7. for(int i=0; i<=num.length-1; i++)

8. output+=num[i]+" '

9. output+="\nThe Contents of the array in reverse order are:\n";
10. for(int i=num.length-1; i>=0; i--)

11. output+t=num[i]+" '

12. JOptionPane.showMessageDialog(null, output, title,
JOptionPane.INFORMATION MESSAGE);

13.  System.exit(0);

14. }

15. }

JEL =
JSsdng byl I saall yolic BLoY alldy Susse Glhgs dlasl @3 (N-)0) Hlull 2
o) e JEm g gole JEa i NUM asauall Slisizme Leldas malipdl 12 a35s Eon . uunsne
Gl piee o (V=) Jsmidly (ho @By 23510 clgily num.length-1 dagicall 2 591 234l

- ~ éau‘ FL'J"'”

ﬁf_ﬁl The Contents of the array are:
= 4 6 2 3 9 5 7 2 4 7
The Comtents of the array in reverse order are:

F 4 2 F 5 9 3 2 6 4

(-1 Jems

:(Sorting) dgial melis wus

-\e .
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/[ array7.java

import javax.swing.*;

class array7{

public static void main(String args[]){
int num|[] = new int[] {4,6,2,3,9,5,8, 1, 10, 7};
int temp;
String title=""The results of the Example (1-7)";
String output="'Array contents in original order:\n"’;
for(int i=0; i<num.length; i++)
output+t=num[i]+" '";

10. for(int i=1; i<num.length; i++)

11. for(int j=0; j<num.length-1; j++)

12. if(num|[j]>num[j+1]){

13. temp=num(j];

G2 s e e L

14. num|[j]=num[j+1];
15. num|j+1]=temp;
16. }

17.  output+='"\n\nArray contents in ascending order:\n";

18. for(int i=0; i<num.length; i++)

19. output+=num[i]+" "

20. JOptionPane.showMessageDialog(null, output, title,
JOptionPane.INFORMATION MESSAGE);

21.  System.exit(0);

22, }

23. }

S T
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Ao P e) eyl dag (A Ll S () iyl Jid d8siuall juolic delds o
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The results of the Example (1-7) @
£©  Array contents in original order:
41 62 39581107
Array contents in ascending order;
12 3 4567 8 9 10
OK
(VY-)) Jemds
A=Y Jla

/[ array8.java

import javax.swing.*;
class array8{
public static void main(String args|[]){
JTextArea outArea= new JTextArea();
int mark[] = new int[] {78, 81, 52, 92, 48, 90, 66, 40, 96,84} ;

e

-\Vv.
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10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22,
23.
24.
25.
26.
27.
28.
29.

30.
31.
32.

String name|[]= {""Ahmad", "Mohammed", '""Naser", ""Saleem",
"Adel", "Khaled", "Ali", "Kareem", "Jamil",
"Nader"};
int temp_mark;
String temp_name;
String title=""The results of the Example (1-8)";
String output=""The students' marks in original order:\n";
output+="Name\tMark\n \t \n"';
for(int i=0; i<mark.length; i++)
output+=nameli]+"\t"+mark][i]+'"\n"’;
for(int i=1; i<mark.length; i++)
for(int j=0; j<mark.length-1; j++)
if(mark|[j]<mark|[j+1]){
temp mark=mark]|j|;
mark[j]=mark[j+1];
mark[j+1]=temp_mark;
temp name=name|j];
name[j]=name[j+1];
name[j+1]=temp_name;

}
output+="\n\nStudents' Marks in descending order:\n"’;
output+="Name\tMark\n \t \n"';

for(int i=0; i<mark.length; i++)
output+=nameli]+"\t"+mark[i]+'"\n"’;
outArea.setText(output);
JOptionPane.showMessageDialog(null, outArea, title,

JOptionPane.PLAIN MESSAGE);
System.exit(0);

}

}

JEL 7

Sy iy dee @@ (YW-12) N1 2 (Descending) 3lall iyl ddee cnw JUELI 1a

-VA -
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The resulis of the Example (1-8) E|
The students' marks in ariginal order:
MHarme Mark
Ahrmad ra
lohammed 21
MHasear LT,

Saleem 02
Adel 48
Fhaled =1
Al BE
Faream 40
Jdarmil 2] 5
Hader 824

Students' Marks in descending arder:

MHarme ark
Jarmil 96
Saleem L s
Fhaled 90
MHader 84
mMohammed a1
Ahrmad ra
Ali 515
Maser 52
Adel 43
FKareem 40
]

Y-V J==i
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:(Searching) Olsdal! B o
2 dxge (pae puale @ apamd iy sl Sruss cilbgiias pe Jolaill mardl agd isle
Sl Gyl e iyl ;dw g oyl 1o IS o Cmdl Byl alazind (pe w¥ d85800s0
(Binary Search) _ilal =iy (linear Search) sl cx i Leag

238 2y (Aipll Tsdaall o Loy yud Kaghiall J215 an yumle e o] L] o] ki
Bl e Jaaliiie (g Lie ol S0 Geidll g Gsiuall Slisime puen Dlie @i dasyLal
(s 13,41 Dsiall Jals crae punie e Eomdl GIE Gl aniion Lk gl J) piunll
s Caamd (61 ] ot @ Tl Gyle (09 cprdaat ] Ddpdeall @peadl @i L plall oda 2
s asmse OLEs 13] Bagaeall J5ls yuaiall le yghall @iy i 1anny die ol S,L1 sl
ol Byl s g3 AL Aia¥ly Slasdl ol (e Lassly gl L3l1 wlbsamll 2 SLA ol

oA
14=1 Jlie

// array9.java

1. import javax.swing.*;

2. class array9{

3.  public static void main(String args[]){

4. int n[] = new int[10];

5. int num, k=-1;

6. String title=""The results of the Example (1-9)";
7. String s, output=""";

8. for(int i=0; i<n.length; i++)

9. n[i]=i*2;

10. s=JOptionPane.showlInputDialog(''Enter the number which you
want to search for:");

11. num=Integer.parselnt(s);

12.  for(int i=1; i<n.length; i++)

13. if(n[i]==num){

14. k=i;
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15. break;
16. }
17.  if(k!=-1)
18. output+="Found value in index "+k;
19. else
20. output+="Value not found";

21. JOptionPane.showMessageDialog(null, output, title,
JOptionPane.PLAIN MESSAGE);

22.  System.exit(0);

23. }

24. }

Bl

e | @i cnas @3 e e A8sdins S35 Eomal Sladdl ol Lk sl o JEL 1282
UM i) 2 ¢35ty die Sl 310 @301 & laes (V11Y) Jla¥ agi o milall da gl Goylo
S daBga (a3 ol dghiall B 0301 s e il @3 Al 2y dbhinll cilgine caan go
S S Gy V- 58 Lem K il ggima A Bshall 2 @301 e il e Alls 24 ok
B @) K Legd ciles 13 Lagaiall 2 die Eomdl syl @3,01 3gmg anas Dluy Zebds @i (Y+-1V)
25 iasainll Jals 3gmse die Sl S @31 Ol ias 1iigh K Legd oy 18] Laky )= g
ole gtall Dl 2 Galeall paliydl 2am onn (V65)) Jemlly iy Ula delds < Cagung k 2351
dagaall 2V @3,11

Input g| The results of the Example (1-9) E|

Found value in index ¢

Enter the number which you want to search for:
14 | >

0K

0K Cancel

OVe- ) J=d
tiasaall 2.V @301 Lo ygiadl ane Uls 2 zaliydl dais (Vo-)) Jaddl oy Ledws
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|En1&r the number which you want to search fﬂf!| 9 Yalue not found
. ?

0K Cancel L

(o- V) =4

£Yo=Y Il

/l arrayl0.java

1. import javax.swing.*;

2.  class array10{

3. public static void main(String args[]){

4. int id[] = new int[] {2,10,1,7,4,6,3, 8,5, 9};

S. String name[]= {"Ahmad", '"Mohammed', "Naser", "Saleem",
"Adel", '"Khaled", "Ali", "Kareem"', "Jamil",
"Nader"};

6. String s, stdName, title=""The results of the Example (1-10)";

7. String output="The student's name is:--> "';

8. int no, index=-1;

9. s=JOptionPane.showInputDialog(' Enter the student's ID to

display his name:");
10. no=Integer.parselnt(s);

11.  for(int i=0; i<id.length; i++)
12. if(id[i]==no){

13. index=i;
14. break;
15. }

16. if(index!=-1)
17.  output+=name[index];
-YY -
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18. else

19. output="There is no student with this ID !!!";

20. JOptionPane.showMessageDialog(null, output, title,
JOptionPane.PLAIN MESSAGE);

21.  System.exit(0);

22. }

23. }

:JBl 758

ool deldog Cdlbs @3) (e &b ye pud Dghan 2 Exll Slasl G dl 45y, b alusia) @ JEL 10 2.
oo Aol @n @l QAU @35 e id Dasaall Jals mdl @i (10-1)) Hla¥1 2 Ul 1o
AUl @3 pBga (a3 @y id daghcall 2 ssase @301 e (s 13ls ((NO0) milall dxgd Goybo
ol gyl e 2 85l Ledll ansied B Il index il 2 id dssaall Jals
Ul @l 23l ] (VA=) Hlars¥1 IS e @ o cNAME &85aall 2 @301 10 Conln LI
“There is no student L, sl 5i id 8siuall 2 13520 Il 28 @3y Gles 13 @l 2l )
Aagiall o082 3 ge pud J3all Clall @35 les 13] el y=L J| with this ID 117

£ @yl Cmlis LT e giall Al 20 Galeall praliyddl 2as cn (11-1) Jmll

Input m The results of the Example (1-10) @

Enter the student's ID to display his name:
4 q

0K Cancel

The student's name is:--> Adel

0K

O1-) Jemds
Y @@, Jammg s (6T e Hsiall e Al 2 Bobaadl galiyd! 20as (VV-)) JE il s g Le

-YY.
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The results of the Example (1-10) E

% Enter the student's ID to display his name:

There is no student with this 1D 1

0K

0K Cancel

(VV-1) Jemds

1) =) e
/[ arrayll.java

1 import javax.swing.*;

2 class array11{

3.  public static void main(String args[]){

4 intid[] = new int[] {1,2,3,4,5,6,7, 8,9, 10};

5 String name[]= {"Ahmad", '"Mohammed", '"Naser'", '"Saleem",
"Adel", "Khaled", "Ali", "Kareem", "Jamil",

"Nader'"};
6 String s, stdName, title=""The results of the Example (1-11)";
7o String output=""The student's name is:-->"';
8 int no, index=-1;
9. int low=0;

10. int high = id.length-1;

11. int middle;

12. s=JOptionPane.showlnputDialog("Enter the student's ID to display
his name:");

13. no=Integer.parselnt(s);

14.  while(low <=high){
15. middle=(low+high)/2;
16.  if(no==id[middle]){

-Y¢ -
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17. index=middle;

18. break;

19. }

20. else if(no<id[middle])
21. high=middle-1;

22. else
23. low=middle+1;
24, }

25.  if(index!=-1)

26. output+=name[index];

27. else

28. output=""There is no student with this ID !!!";

29. JOptionPane.showMessageDialog(null, output, title,
JOptionPane.PLAIN MESSAGE)

30. System.exit(0);

31. }

32. }

JEll 7y

(¢ o3y ) id Epamll 2 GO AT i) @ am (1)) Goleadl JEIL 4 58 JILI 1ot
Aa¥1 2 LU lgiiall 2 el e Lty gyl yaas Silly SILET Sl Lyl cuatieialy
(35 3535 OlEme dyamdy cpdent ] Dsiiall eundly ey LT Eondl Lyl Gulad o3 (Yo 1)
Eomdl 3yl G 63 4 ety (631 Crunill @aaai I3 g a1 2 e ol 11 LI
(While) olhsudl (e oyl LI 5T 1d gl 2 CIlall @8 slol @ o JI (23T ndad J die
Ad Laganall 2 Clall @3 e Hsiall (0

@@ Conlin QU e ygiadl D 2 Gabadl eyl 2ass can (VAS)) J<midl

The results of the Example {1-11) @

Enter the student’s 1D to display his hame; The student's name is:..> Khaled

1 1 1 m
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VA o3, I fall ave Ul 2 3iledl zaliyd! 2uas onw (VA-Y) Jem il Leig
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Input E| The results of the Example {1-11) g|

Enter the student's ID to display his name:

z o

0K Cancel

There is no student with this [D 1

0K

(14-1) Jens

Y=Y Jlie
/[ arrayl2.java

1.  public class array9{

2 public static void main(String|[] args) {

3 int[] testArray = new int[S0];

4 testArray[43] = 10;

5. int testArray2[] = { 35, 23, 8, 34, 66, 88, 5, 2, 85,33 };
6 int key, index=-1;

7 key=10;

8 System.out.println(''Searching for element == 10"");

9. for(int i = 0; i < testArray.length; i++) {
10. if(testArray[i] == key)
11. index =1i;

-Y1.
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12. }

13. if(index !=-1)

14. System.out.printin(''Element found at " + index);

15. else

16. System.out.println("'Element (10) does not found at the array
testArray");

17. index=-1;

18. key=88;

19. System.out.println(''Searching the second array for element ==
88");

20. for(inti=0;i <testArray2.length; i++) {
21. if(testArray2[i] == key)

22. index =1i;

23. }

24. if(index !=-1)

25. System.out.printin(''Element found at " + index);

26. else

27. System.out.println("'Element (88) does not found at the array
testArray2");

28. } }

L oy

Eomdl dlae a5 (YY) Hlanlly (VY-3) Hlas¥1 «laill Eondl ke min gy Linal JIELI Liaay
o cciyilliy Dsiunll iligime e g Key die Eomdl 1 yuniall Dslaa ok e
o Lgaiall 2 T3gmge oy @l 135 Lasdall 2 dadye ields @B dic omdl 3,11 puaiall aag 13]
el Wy deLibs

Gobead! maliydl il y3ea (o (Y0-)) J==idly

ot C:\PROGRA-1XINOXS-1\CREAT-1\GE 2001, exe

Caarchinag for alement == 10 R
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:(Two-Dimensional Arrays) jddad|Si3 Sldgaall

lBgdiall cayyatclld e Jlasog cusly o e sl auld Gilbgama canyal ey ol G320
Gigan Gl gy Joia 0o Hle o poaadl @by Dgaall oL Jeall abaiady ppaad! @l

LH ébﬁ)}éﬁ Oy SR Z\A}a.‘.a.n mﬂi&&t«oﬁ gﬂﬂ\ J\:&b(*\-\)d&.&ﬂ#‘ cS.Lq.Cb

1. int b[][];
2.b=newint[3][4];

Gy gaall o2 pBlga o & G Caall 2.9 (paay @l Logdan Canypad @3 Jo¥I el 2
b giall mis g (Y+-)) Js=idly saee] B Lle Gimu lgin caw J5 gam e Ll (i

Lead) 5a o8 )
0 1 2 3
0 b[0][3]| b[0][0] |b[O][1] |b[O][Z2]
1 b[1]1[0] | b[1][1] | b[1][2] |b[1][3]
2 b[2][0] | b[2][1] | QKI21[2] |b[2][3]
H
%
(Y)-1) Jemds

251100 Led Lgilac ]y (s ol E8ghunn oy Luius i 0 I JLaLL
intb[][] ={{1,2},{3,4}};

.
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(oY) sganlly oV Cauall alolas 2 5o sl aBsll 2 b Lagaiall 2 ) suall (333 @3 JEL Tas 2
Cro JE (rds Sle dganllola gsimd (3T iaarg SEI sganlly SV Cauall plalai 2 Y sually

(YY-\) Je=
Sle Gy Jg¥ caall G Graes 3uee¥l (e caliza s Gl o O Lsaiall Bgdnl (g
AL JELN 2 e (dada (agee le (ggima U Cawally susal cdl

intc[][1={{1,2,3},{4,5}};

€ dagawmsll ibigizme (o (YY-)) J=ily

C
1| 2
)y 3
4| 5
(YY-1) Y=

oAb Lshio (4o a5 G S L pBlse Sy W8ghiane canpad ddee G SR JEL
eV e caliza sue e dagaiall

int a[]l[];

a = new int[ 2 ][ ]

al 0 ] = new int[ 5

al 1 ] = new int[ 3

; // allocate rows
1; // allocate row 0
1]; // allocate row 1

= W bR
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Cldghial % _ Shed)
//

Lﬂ-;-l.:' 42\33.‘:.4&\ ad.‘,.‘uj.m.a]mp:(*) pl’v)).fa.u.” %3 ca L@.m.u‘ MMMM@(\)@)M‘%
soec | &5 joea @3 (8) @3 ol PU5 ey (Jo¥! caall suael ued joes @3 (V) @3 jlacdl 2.
A dgiall mis g (Vi) Js2illy HB Cawall

ok \¢Y

0]0[0|0]0] A[0][4]
0,010
\_> A[l][2]

(Ye-)) Jems

.
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/[ arrayl3.java

public class array13 {

public static void main(String[] args) {
int arrayl[][]={{1,2,3},{4,5,6} };
int array2[][]={{1,2},{3},{4,5,6} };
System.out.printiln("'The contents of the arrayl are:");
for(int i=0; i<arrayl.length; i++){
for(int j=0; j<arrayl|i].length; j++)

System.out.print('"\t"+arrayl[i][j]+'"\t");

System.out.println();

10. }

11.  System.out.println(""The contents of the array2 are:");

12.  for(int i=0; i<array2.length; i++){

13. for(int j=0; j<array2[i].length; j++)

14. System.out.print('"\t"+array2[i][j]+'""\t");

15. System.out.printin();

2D s D e e e

16. }
17. }
18. }

:Jill 7y
2ih Cigio| Gy <RSI Led Lajllac] @35 ArTay] Loswl sias Caypd @ (7) @3y placdl 2
Lgocs! Bgaine Cayyad @5 (£) @B ylawdl 2 g ueel B Lo (oinl caws JSg (ram e d25aall
e g5l Led Js¥1 Caunll (Casiin & Lo coginl oy Sl Led Laglac) 3 array2
(09 bea] S Lle ggial S Caall Lady (dadd sy dgee Gle gginl AU Caally ((nagee
(Joda J5i Gle ol il (3558 oy array ] dagamll cibigizms elds @5 (V=1 Hlan¥l M
sde d8yaa @iy arrayl.length dlestl UMs e arrayl dogacall 2 (agaiall sue L8yae @ 4By

-YY.-
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Q\ﬁ}l’m z\.cLJa ‘c:’j ol (“2') Jlaf i GIES arrayl[l]length Z\.La:u.” JMA ) s J& % S..La.cc}“
Zobpd! 1as il ya g (Y0-1) J<=idly (V=Y Y) a1 IS (ye array?2 dagicall

et (:\Program Files\Xinox Software\CreatorV3 LEGE2001.exe |
The contents of the arrayl are: B
1 2 3 »
4 5 6
The contents of the array? are:
| 2
3
4 5 6

Press any key to continue..._

(Yo-1) J&ns

:Y =) Jlie
/[ arrayl4.java
1. public class array14{

2 public static void main(String[] args) {

3 int grades|[][] = { { 77, 68, 86, 73 },

4. {96, 87, 89, 81 },
5 {70,90, 86,81} };

6.  intsum;
7. System.out.println(" The array is:");

-YY.
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8. System.out.println(""\t\t[O]\e[1]\t[2]\t[3]"");

9. for(int i=0; i<grades.length; i++){

10. System.out.print("'grades|["+i+"]"+"\t");
11. for(int j=0; j<grades]i].length; j++)

12. System.out.print(grades|[i][j]+'"\t");

13. System.out.printin();

14. }

15. System.out.printin();

16. for(int i=0; i<grades.length; i++){

17. sum=0;

18. for(int j=0; j<grades]i].length; j++)

19. sum-+=grades|i][j];

20. System.out.println('' Average for student "+i+" is "
+(double)sum/grades[i].length;

21, )
22. 1}
23. }

JEL) 7

oyl @ Cum by ayl A egie Gl s oMb B ¥ iae deliday agdy maliydl o
Slygims delds & (VE-V) JalNI2 (0-7) Hlan¥l IS (e Ly b yudl (3359 grades 1osa.all
Ae P ey e suee¥ly Chgaall ald)i musgi ae Jodx JEmd Lle grades dpgaall
s £t Juall delideg slayl @& Gms (V8 @3y slacadl) suml (s Jo @il ys gan @3 (Y)-)71)
SUM yail] 20 05oedls ailaya § sazme Loy Wiy Cls JEat Juall alayl @3 o (Y+ @3 Jlacdl)
o grades[i].length ilestl M5 (1o Gl (st dide Jpasdl 5ma gy alayudl sue le
Gl 5 @l s pen Jid sum il s dasdle com (cUal)) Canall @3 Jiey 1 il
zeelipd! 13 @il y3ea o (Y12)) J58015. (VY @3 shaddl)

-Yé o
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e+ C:\Program Files\Xinox SoftwarelCreatorV3 LEAGE2001. exe

The array 1s: B
(o] (1] [2]  [3] =

grades[0] 17 68 86 73

grades[1] 96 87 89 81

grades|[2] 70 90 86 81

Average for student 0 15 76.0
Average for student 1 1s 88.25
Average for student 2 1s 81.75
Press any key to continue..._

v
(| | )

(Y1-)) Je=i

2y0-Y Jlie
/[ arraylS.java

1. public class array15{
Ve public static void main(String[] args) {
3. int nums|][]= { {21, 24, 43, 54}, {15, 63, 27, 84}, {29, 10, 17, 42}, {28,
33,41, 67}
$3
int sum=0;
System.out.println("'The contents of array nums are:");
for(int i=0; i<nums.length; i++){
for(int j=0; j<nums][i].length; j++)
System.out.print("" "+nums[i][j]+" ");
System.out.printin();

¥
for(int k=0; k<nums|1].length; k++)

SRl

s

-Yo.
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12. sum+=nums[1][Kk];
13.  System.out.println('"\nThe sume of elements on the 2nd row is:
"+sum);
14. sum=0;
15. for(int k=0; k<nums.length; k++)
16. sum+=nums|[Kk]|[2];
17.  System.out.println('"\nThe sume of elements on the 3rd column is:
"+sum);
18. sum=0;
19. for(int i=0; i<nums.length; i++)
20. for(int j=0; j<nums|i].length; j++)
21. if(i==j) sum+=numsli][j];
724 System.out.println(""\nThe sume of elements on the main diagonal
is: ""+sum);
23.  sum=0;
24. for(int i=0; i<nums.length; i++)
25. for(int j=0; j<nums|i].length; j++)
26. if(i+j==nums.length-1) sum-+=numsli][j];
27. System.out.printin('"\nThe sume of elements on the secondary
diagonal is: "+sum);
28.  System.out.printin();
29. }
30. }

Sl 7
eyl Al pe Jalaill @9 cBgaiall Jals diges saeely Csio po Jaladll @3 JUELI 128 2
Loaie ouguad (pEmag) Gl Hladlly (sgaadl @) Sobun Cawall @) (ysmy Lasic sugisd Saay9)
Gowe¥l sae D) Cagaall sae Golaw waly @Bl sgeall @) po Caall @3) foama 3o
@lagiall 2 dazd gas Jobadll (s L1 Hadlly eyl sl oF dasdle comy ¢ ABgdinsll
2 (omglecio s0ee ¥l sacy Bgaiall sae Lad (ssmn Al cilbgaall o Lyl cilbgaiall) Loyl
ielbg byl @3 (VE-VY) ¥ 2 Jous J5oi Lle Wdsaall cibigims delds @3 (V)-V) Hlar¥l
Hau¥ 2 & Lein () 54 dgaall 2 anall s @3) GBI Gaall 2 LRl ald ¥ ¢ geme
(Y 5o Laganll 2 sganll lia @3)) SIEI sgaadl 2 L35l a3,V ¢ gama deldsg sloyl &3 (VA-YT)

el DI e nUMS L8giasll Lyl Hhaall Ll sagagll al®y¥ ggema debidsg slaul @9
.
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9 ga yeaiall s Oles 3] Legd 800 @3 (YY) @3 jlacdl 2 oy ll aluseialy 45T dasy ((YY-Y)
Sle 535251l Al ¢ game delidsg slawl @3 (YA-Y0) ol M5 ey Y Lal eyl Hladll e
e 39290 yuaiall HlEs 3] Led sausd @ A (e ) Lo yill dasY (Logimcll g5 Hlasl

v C:\Program Files\Xinox Software\JCreator¥3 LEYGE2001.exe

The contents of array nums are: s
21 24 43 54 [
15 63 27 84
29 10 17 42
28 33 41 67

The sume of elements on the 2nd row 1s: 189

The sume of elements on the 3rd column 1s: 128

The sume of elements on the main diagonal is: 168

The sume of elements on the secondary diagonal is: 119

Press any key to continue..._

(YV-Y) J==i

-YV.
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3 et y o

O.A /o\ :\+LAJ 2.&).&.” @.&33 ‘éaw d\:u YO« DJ‘J..E.A L’)‘G":"' L:tb L@Tn’.ajajﬁems :\&).411 Z\u.u

e Sy Jedx oo Hle malipdl aila e (95T G by el @gilans faamag

ol 58 Ol llenD) yeddl e 2 Cocenll Calasll (3l lenls cabisll Dgae
(ﬁﬁ‘ﬂ)%@ﬂ‘&%&wuﬁ/o\+éa}gmd\:’) Yo+ calyoll

Slae¥l pen pamd @3 ey dBgdmns 2 Lgi>ig mume dde Vsl Al maliy oSl 1Y

bl aliydl Blgh 29 .6y T LBsaimn 2 Loy yall Slae¥l (uyaig dagaunall sia 2 2551l

Tanyall slae ¥l gominn Sl dgaiall @ (9€m0 OF o 1idasde) (@ saall ilifizs
(slae ¥l o2 saad Lylews

oYl d8gana) (MiBgdnn 2 ﬁ.g.g):-..b M Ve slely Y aae sef a8 CJL')_' s Y
dyd i) s Lt O clec] deliday zobydl asdy Com ((slecdU) Lagdinay
PESES u.\.ci colos (Q.«.u‘j 1 L:gjLu] 370.: (Q.QEY._L’.A

elipdl agh Cumy clagiine 2 Lgiyiiy Ladsll slae¥l e N selyal paliy cassl it
Iasl ya hii soe 5lydr malipdl ashey Loelat Lsys Gasaunll ciligime oyl
s sy 130 SLAI Comdl nykey Z8saiall 2 suall s g Emdly agad malall
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*(Methods) {ylatl o Lo
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.(Math Class) ioletl

:(Math Class) dulbuwant | Oldeat| ok
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ol Laaay dadh legiie aiall @l Llismy Gylall clentinl Llee @3y Il . L0 el 3530 sual
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Class Name.method Name(Argument List)

tJle
System.out.printin(Math.sqrt(9.0)) ;

(9.0) sty Jalas 2515 Sully (Math) Caiaall 2 5355511 (sqrt) L ylatl cle sialy dlasdl o2a a5

L})Ja.ﬂ gy EQM \-Y) Jyadlg 3.0 el O detl ol Sl i o .(Double) &34 Y
(Math) Gaicall 2559 51!
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abs(6.2) > 6.2
abs(-2.4)> 2.4

x 3 gl el

abs (x)

ceil(5.1) - 6
ceil(-5.1)> -5

ol oo sue JBT JI X )
X ya 3

ceil (x)

floor(5.1) > 5
floor(-5.1)—>-6

oud s dde ol JI X 5

floor (x)

max(7,6) > 7

Y 93X (e dagd yssi

max(x,y)

min(-7,-8) > -8

Y 9K (o degd J31

min(x,y)

pow(6,2)>6° > 36

Y M desppe X

pow (x,y)

sqrt(9)> V9> 3

X ayall sl

sgrt (x)

random()—> 0.23121

il s e 3 3y
gl

(V-Y) Jgu

random ()

V=Y Jlw

System.out.println('"' The square root of 100 =" + Math.sqrt(100));
System.out.printin(''The absolute value of 20 =" + Math.abs(20));
System.out.println("'The absolute value of -20 = " + Math.abs(-20));
System.out.println("'The absolute value of 0 =" + Math.abs(0));

// UseMath.java

1. public class UseMath{

Dl public static void main( String args|]){

3.

4.

5.

6.

7. System.out.printin(''4 to the power 2 =" + Math.pow(4,2));
8. }  // end of main

9. } /l end of class UseMath
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el 148 il e

e+ C:\Program Files\Xinox Software\JCreator¥3 LEAGE2001 .exe x

square root of 100 = 10.0 —
absolute value of 20 = 20

absolute value of -20 = 20

absolute value of @ =

to the power 2 = 16.0

i e e e
mmmm

T
I
I
I
4

Press any key to continue...
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Slemlod| elyng olad¥l Jie 2805l ald,¥ alaiial J) glisd ol JShall e pasall cliliag
I (e Lgaluiinly Ll gdall ald¥1 udys Lass e (Y-1) JEL 20 Coyaiins Loyl g culislaally
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// RollDie.java

1. public class RollDie{

2. public static void main( String args[]){

3. int face ;//variables to store the result

4. for (int i = 1;i<=5;i++){

5. face = 1+(int)(Math.random()*6);

6. System.out.println('"The Facein Try " +i+ " is " + face);
7. } // end for loop
8. }// end of main
9. } // end of class RollDie
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«2,IL (Math.random()) ¢ye g3lidl Al gduall @301 puds @3 (@5 ey <ty oo 3Ty pauall ol o
315 yiun S5l 5T cre sl il Sl gdiall sadl s (i) 3 (e s sue ] dligai 1
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el g AT 5 e JE0 2 Calind a3 el 1ot 31 o i Y

is 4 EJ

The Face in Try 1

The Face in Try 2 is 4
The Face in Try 3 is 6
The Face in Try 4 is 1
The Face in Try 5 is 2

Press any key to continue..._

-
< | >

(Y-Y) =i

das W Less dalixs é\\:uu.hj 4‘5)57 5 s aM JJJGAL!).J‘ Q\})_‘zn o (Y-Y) d&.&db
e+ C:\Program Files\Xinox Software\JCreator¥3 LEVGE2001 .exe

is 2 EJ

The Face in Try 1

The Face in Try 2 is 6
The Face in Try 3 is 3
The Face in Try 4 is 1
The Face in Try 5 is 5

Press any key to continue...
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I Lol (9 Bypladl o2t alusial salel I3t clllg alipd! Bl Lide yag Ll 2 yall 3yl
Software ) cuiss ooy Gyhall ola Lals iy I daladl Goay 650 55 Lenbiss )
«(Math Class) iglast! cldeall caios 2 5392 gl 3 all clli alusial ety Jlay «(Reusability
2l ! Jeonll B g Lide Led cralipall 2 Joonll Ll 1,63 ol o (6,331 35011
Loansl Gaplo s Ainylall 020 cletinls ap3 @ cray «(Method) &iuyls Jals melipd! 2 Layl a3

Lin¥ i Lt alipdll 2 g e il

Lo Aty 3 lall a3

(Method &, lall @uums hyaig) Jomdl (oo degarme oo 5yl o Liplalls Llu Uyes) Less
(Signature) @5l JMa (e dasydall (8,039 catall I3 1 Cayaly e el Lt (950 Eus Body)
a0 bl g3 1 LY ety cdlelall g3 «iauylall aual e 5yl say <Las ol
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[Access_Specifier] [static] [Returen Type] Method Name ([parameters
{
\\\\\\\\\\Ei statement 1;

statgment:3;
sl

Signature -

uhgd‘ﬁm%
Method
Body

[retuen]
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bl 2 Oleme (612 £ pa danydall (95ty Cale” Liass T2 (public)-
i e danylall ol o le Joo 10 (Access_Specifier) Jgw ol sama Lliss @b @ 131-
A Ly plall e ye g1 il L i 3l eyl S 13 2
il o2 (e UL 3 gl 2 LasY LT 3kt iy Coyen 6531 S s ol sime cliling
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sall clicalys M5 e Leayas I (Data Types) clilad! g1631 e g90 6T dam | clilad! 3
(Return) 53smLl delsstl alusinly Ledl) glosl @y (1. .. ¢ chare int: fie) Y —iza o
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.(Actual Parameters)idasll csMalalls csMslall
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[Access_Specifier] [static] [Returen_Type] Method Name ([parameters]

v v v v v

public static void suml (int numl, int num2)

.prind

uhqd1¢u%
Method
Body

(6-Y) J=i
O dall

[Access_Specifier] [static] [Returen Type] Method Name ([parameters]

v v v v v

public static int suml (int numl, int num2)

Method
Body
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// Methods.java
1.  public class Methods {
2. // instance variable declaration. ..
3. public void method1(){
4. //body
5. }
6. public void method2(int i , double j){
7. //body
8. }
9.
10. public int method3(){
11. //body
12. return 0; //integer expression
13. }
14.
15. public int method4(int i ,String s ){
16. //body
17. return 0; //integer expression
18. }
19.
20. }
JEL =

e DI e S O Gylall pEses 1 JLEsd mus sl Gyl aopl canyad @3 (V-Y) JULI 2
gyl (355 (A1) phan¥ly ied a5 Yy cdlales 250 Y (Methodl) day,ball caypes @5 (0-Y)
2 9 .double g4 (re J 9 int §o3 e 18I cOlalall 250 (5=t Lad a5 ¥ (Method2) Leaw!
(Int) g55 (e aud g 3 S dbalas 251 Y ully (Method3) daydall oy yas @3 (V=) +) pla ¥l
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(Int) § 93 (e deu px )39 .String ¢ 55
g O edlalall @ Jlayly Gy phall el Ll Gayb e dblan J5s0g 3 pdall sle il Ldee @

pall ele il Elaad alall JEm il cng (V-Y) sl

Method Name ( [Parameters List] );

(V-Y) Jems

3ttt s e il Lulaal alall JEm il 758 Ll 2
ol Bl o w3 T Gals 2 539390 dayybs cletiul wie g cddyhall @l :(Method Name)-
Aag) egin Jiadi Eom i ylall @l i3 Catiall |2a
! idadll @uall a9 «(Actual Parameters) Ldasfl wdlelall 4655 :(Parameters List)-
T JLEm YL 005555 O (o ¢l Lo sl Tulee 2 p it
suml (5, 6) : Jio ¢inls @@=
suml(X, y) : fia conlyiria-
suml(sum2(z, 4), y) : fe 57 (Method) ias Jdat s le ciul-

tlea (sl Gle Gylall cle il dlee ST
2 Lgalaziial Yy yita ) Lasbi] @i ¥ T o Al 02a 2.5 (VOId) @08 a3 Y 3l Gylatl= )

Ll Y ] B auiied O camg Dl 028 2 g @b Loyl sl all Byball= Y
i J] Laslic] @i
et 2 Lgal il
ieldatl Lol da,all L3y s Jie o gya T danydat cle il ddae 2 LgalaGeinl-
.System.out.println( )
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/l MethodCall.java

public class MethodCall {

public static void main(String args[]){
intx=5,y=6,z=0,s=0;

sum1(10, 5);

suml(x, y);

s =sum2(5, 6);

System.out.println("'sum =" + sum2(5, 6));
z=12 + 3 * sum2(x, 10);

suml(sum2(3, 4), 5);

. }// end of main

. // defining the method sum1
. static void sum1(int numl,int num2){

int sum=0;//local variable
sum= numl+num?2 ;
System.out.println("sum = "+ sum);

. }// end of suml

. // defining the method sum?2
. static int sum2(int num1,int num?2){

int sum=0; // local variable
sum= numl+num?2 ;
return sum ;// returned value

.} // end of sum?2

}// end of class MethodCall

:JEL CJ"i

5 (0) ylacally (8) Hacall 2 cpiliall Losden iy cletiea¥! ililee ma 5y i Cagen JBL 18 2
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//

2 e Jluy] @is Jo¥1 sleia¥ 2 calgh Jlasl @ Eum VOId 54 Legd am 1l deidll ¢ 5ig

Gyl calg Jlal @F (D) ol 20 dint g 90 (e dag® a5 sum2 &gy lall Lot HEI sleaia¥|

ol 2 Layydall oda (e dam I Leydll (335 @i S puiil) J) Lkl oda sle dticl slic <3gcsum2

oy delbally Lol bl J)osum2 bl sledtiel Jla)) @& (V) addl 2yl

sl ol sl J5 0 sum2 GG bl cle il LS o (A) el System.out.println()
suml &Gy, S sum2 &y latl sle il Jlooy] ddoc s 93 ()

L§4Lu.d‘ (¢-Y) JELI %C_‘ob‘ﬂﬂ NP Cj\:u s (A-Y) d&\.ﬁﬁ\j

et C:\Program Files\Xinox Software\JCreatorV¥3 LEAGE2001 .exe

sum =

sum = 11
sum = 11
sum = 12

Press any key to continue...
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¢(method) iz, datf cle wtinl die Eiusy 15ke
(parameters Formal) ides il edlalall J) (Actual parameters) dudaall calall jecds -
s A edlelall Joady ddssddl cdlalacll Lblan! @uass Ldasll cdlalall moad i
RESUN UM T S P JUFL (R PO
sledtiadl dgyydall Glay ) gelipdl das Ja -
e le W dleand LI Al (o gralipd! 30aB patiowy 48 plall 230 (o elgii¥l s -V

3V el wds suml(10,5) sleaial wie Misd (£-7) Jle | sgad clglasdl sia Lle Jlessy
lgh o duaill petiewg suml dGyydatl lay JI deadt e el aas @3 num2 J 0 deally cnuml
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2uai ey @lghd o (4-Y) Jsmidly (0) placdl 2 s sll ddeadl Loy suml I clean¥l
(0) ploutl I 2t cpa o LgoW | day Lgia 504l (£) Jacdl @2 suml 45 41

public class MethodCall ({
public static void main(String args[] ) {
>
T4 g
5),; 10 suml (
B ’
& 7
G, %, .
X ¢ 10 5}
C"“
Ky, \Z \4
‘é’%// static void suml (int numl, int num2) -
. (-
%/M int sum = 0;}
’ /‘1/ sum= numl + num2 ;
< System.out.println("sum = " + sum)
}

(A-Y) Jem

z(Variable Life Time) Qfpidf Sl 552
IY(RAM) Ll giall 5yEalall Jals 1asmse il Led ao oall 5,500 o o yuiiell sLnll 5,
&AQ‘)—J—!:I-U Y :\.u)iz’\ t‘y;}“ oDy yaiwdde (ol yand u—“ﬁ‘}'i 3.«4)7 Lg>lg uao el Les jo less
s byl el Lgils 5500
Ol gL dhadye i Ll T caias Lol ol yaill o s Static Variables aulidl ol paad| )
salel e ¢y aimall Jremtll Llee e @ilyuill ol Sl )58 Tudy caiall 130 i
arall 130 Jeamll
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owiidl @ ye I (block) aladll ye

iwidlyy ((Method) da el Canyad 2 Lgud a3 &3 il a9 :Parameter Variables cdlalall ¥
Lgia g9 Ml i gy (Method) daylall cle il wie Ll 550 T cadlalacll

o (o bl (Beaddl) JULL Lol il yanll ay :Instance Variables JULl el ¢
JEL e sl 5,38 Tody (Lo YL ol sl 2 Junsilly Ll ys @3 Cagung) onae
SHLESI 1 ) g o) i ralipadl o3 caalole sy oylendl <L e

:(Variable Scope) Qfpaid! Jlxe

Instance ) Lz eaddl oyl Leilld yaall JI Jgeo oIl A (e adatiend (| alipdl pa eyl s
i~y caiuall Canyad Ll e T il Ja s Led] Jguo ol ubaienia (Method) G,y (Variables
@ ciye 301 (Block) phazll Jou1s ¢35 el Jpo 3l Elmals ol ol il Lol s yas il
o sll ] (135 cLalally Lasylall Spiens e 28 yall dladl olpuiiall Leeailly Lol daid
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// ' VariableScope.java

1 public class VariableScope{

P static int i; //linstance variable
3 public static void main(String args[]){
4 intx=5,y=6; /Nlocal variables
5. i=10;

6. System.out.println(“i = “ + i);

7 i = method1(x, y);

8 System.out.println(“i = “ + i);

9 i =method2(x, y);

10. System.out.println(“i = *“ +i);

11. } //end main
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13. static int method1(int argl1 ,int argl2 ){
14. double numl1 ,num12;
15. for(int counter = 0; counter <= 5; counter++){
16. it+= counter;
17. } //end of for counter loop
18. return i+argll+argl2;
19. } //end methodl
20.
21. static int method2 (int arg2l, int arg22){
22. int num21, num22, i=0; //local variables

23.  {
24. String s;//local variable
25. }

26. return itarg2l+arg22;
27. }  //end methodl
28. } /lend of class VariableScope

JEl 7yl
o=l ples ! e 55 (Variable Scope) yaidl Jles of Sle cdjpath (g JELT T IS e
Grall Sgias Gle Gy Osfad 1l G & (V) el 2 ad ! 1as sl
Of Lasg cdulgy J caraatl Jasd dalon ra pard] 10 sl 5530 0 4€a5 Con el VariableScope
5 (353 Uity gralipall ki) (ea Il Cateall y ity 3o main() i dall Ll (ggimy Caiall s
Lilos Silyiiegs Y 9 X Gyl Cayad 5 (8) Hlacdl 2 (aaled I golipd! Dl oo 1 il s
Gyl Blon e wied Legilis 3104 (dads main() daall J50s Lgns,y <= (Local Variables)
Obge=ais methodl ia st cnw sl argl2 g argll oMelall OF) bt 2 Lgulgs S main()
o3 cya s Lgi¥! Llaly iy ,datl sle il Alamd o Tud Legilom )50 i, lall oia J5ls dadd o)L e
Obd ye Oligsmng plilma ol yuiie Lea numI2 g numll Glhaidl (V6) Jacdl 2. Lgia gyl i ylall
el 2 Lgie 7oyl gy danpall sle wialy Legils 3)% T4y «dads method] da,ball i
il 1 sl 5,58 wiaSy «dadd for oyl dea (513 e (95t counter paill cay el @5 (10)
Sl 25 ibendl sigs oLl (block) chadll Bles im ety olypudl e J| Jsiodl Laod cye
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slewial @ (V) pdacdl 290 juandl Gligima delils @ (1) jlaidl 2 g clid dayg ccainall Goiua
@ad YU a8yt oha a5 Gl dang coaiyidlig Y 9 X Lgdhelas JI T 5 0 JLyl 9 Methodl aay Lt
el 25 .0 Sl 2 Uasnll 25 M cye 1 ilygios Al @i 65 (g 4 2 63,01 Liia (a3
2 diy>i @id V) A phall ol aa )5 oy Lgilelal T g 0 Jlay b method2 4G et s le il @i (4)

o o method2 Gyl 151 4ed o das ¥ i bygizme delib @i (V0) jlacdl JMS (e

el 1208 2 5 o () 2= V) Jesill

i = 1@ inimize
i - 36 s
i =11
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sl e e s Jlapl @ podl 12 2 i(Pass-By-Value) deabll alusiuly jupeiti= )
Jolall Gle boaill ddee o T . QLU (=il Jalall) daydall Jalas I (Glaall Jalall)
Of G sleia¥l e ylall J) by @ gl (ladll Jalall) il le 553 Y lem il
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1. .. «float <double cint: fis (Primitive Data Types) L5141

Jalal )yl olgie Jlay| @ia ¢ 9l 12 29 1(Pass-By-Reference) ol giall alaztialy oyeaidl= ¥
Jalally lEmall Jalall moad «(Method) Zasdall 2. 4l sl Slm il Jelall J) (ladll
Jolall e @ puid o poill 108 2y Gyl 5,S0l00l 2 lsiall Gudd J) ol pdige Sladl
dl e dgladtl cdlalall el Leie SLEG Jssdn daplsd @ @bl s e ol
0. .. String Arrays (wlssawnll) : s (Objects) el

:(W=Y) Jls

// Passing_Parameters.java

1. public class Passing Parametres{

2. public static void main(String args|]){

3. int x;

4. inta[] ={1, 2, 3, 4};

5. x=a[l];

6. System.out.println('"The value of x before change is" + x) ;

7. System.out.printin(''The value of a elements before change is: ");
8. printArray(a);

9. change(a, x);

10. System.out.println(''The value of x after change is" + x);

11. System.out.println(''The value of a elements after change is: ");
12. printArray(a);

13. } //end of main

14. static void change(int b[], int i){

15. i*¥=2;

16. for (int index=0; index < b.length; index++)
17. blindex]*= 2;

18. } //end of method change

-1 .
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19. static void printArray(int c[]){
20. for (int index=0; index < c.length; index++)
21. System.out.print(c[index] + "\t");
22. System.out.println();

23. } //end of method print
24. } //lend of class Passing Parametres

JEL 7

(A) @2 lacdl 2 olsiall aluiial sleana¥ly Ledll alusinls sleamu¥l Las grn JEL s
Gl s yudia) @ g (Int §65 e da® I jedn yiie) X JLaybs change 4G pall sleainl Llae el
L1 bl ¢ 1557 ) s Gl il a3 Lilee ol Liples Uy2md Lasog (int 53 cye i85a0ms
X laall Jolall iad opo L Jloy! @i S ol alasinly (953 (Primitive Data Types)
Jalall ed (o Brad Jlooy] @ 1B aif Lasy danylall s Canyad 2 392 sll 1 Glem ) Jalall J)
Lol a1 5,501201 2 cnibime il ] Oyl Legily a0 Aol Jalall ] lal
Abginn e syl 968 change Gyl cledtinl wie Jup @il @ S| A8l Jolaell Loy
I Bgaall o olyie Sl @i 03] (Objects) (iles e 5yle a Dsiall Gh Cayai Les
(asdiall) gasll udd J) Olpsdo b 1€ all Jalakly @ Slaall Jalall ¢sm 6T b i€l Jalall
soreill Tdasy degdll alasialy el Ldee u Bdll gias (V=) Jsmilly 5yl 2
Gobed! JELT2 (4) placdl 2 5392 oll change iy el sle aial wie clidg ol gall alusiaby
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.(-y) JLLU %FL')'J‘ ..,\...m.ﬁ é\:u o (\Y-Y) d&.&.ﬂj

e C:\Program Files\Xinox Software\JCreatorV3 LEVGE2001.exe

NS

The value of x before change is 2
The value of a elements before change is:

The value of x after change is 2
The value of a elements after change is:
Press any key to continue...

L
q | b

(Y-Y) =i

:(Recursion) ! sbsdiu!

Ll (o iall llligh «Lgandts Lpaudd sleticaly Zay,dall asai o 38 G310 sleaia¥l sgunilly
Sl Jen (e inll Siag Eme Al sdgry 3 sleaia¥l alaiiuly gl (o 3l
Cgpall sln¥ Mied lgwsid iylall sleail Gles LSl Jor o ol gl
r A Js= il e malipdl Ll Saa orae st (factorial)

1(V=Y) Jls
// factorial.java

1 import javax.swing.JOptionPane;

2.  public class factorial {

3. public static void main (String args| ]){
4 String snuml;

-04.
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S. int numl, fac_of numl;

6. snuml = JOptionPane.showInputDialog('"Enter num1:") ;
7. numl = Integer.parselnt(snuml);

8. fac_of numl = fact(numl);

9. JOptionPane.showMessageDialog(null, num1 +"! ="+
fac_of numl);

10. } //end of main

11.

12. static int fact(int n){

13. if(n=0| n==1)

14. return 1;

15. else

16. return n ¥ fact(n-1);

17. } //lend of fact method
18. } //lend of class factorial

JEL =

@ (A) yhaudl 2 @8 .41 (Factorial) cgyaall ind las sldl @301 Jol @ (1) jdaddl 2
sl 2 Ly ﬁl*d Laaiaiy gpall ded Ol ddaay X L._J:‘J‘ﬁ fact &y, cle ol
idee @3 (VE-)Y) Hhao¥ 2 cfact dGypdall clewtial die Gasw Iale )4 oYy .fac_of numl
sl dlead ol canpaill cous) paiall of us sl LjLu.n.d Olss 1Bl Juuydl @@ )01 dad (e S5l
ele oMU ._A.J:-j.” ;433:1.” Jaj.«l gy Ja).[u.” ‘M).CUJJ ._xa.\j P)Jj :\.5.").!4.” PRV.Y ;053:13 (‘—ﬁjj.ta.m
< peticol Wy S sleaia¥ 3y 50y aBgS doyds 39y (re LY AT Eom cdayball o2 0 51
ST ele ol Tlens Lgyine saall playl @3 O ylacdl 25 algVle JI 311 elewiad! ddee
(> LJJA.:J‘ 00D yaldig 4(11—1) J._x\ﬁeﬁ.n Lﬁ)la.n éJLLAI-” o]l JL‘-“)L-’ Z).l‘ PRV Q&Jﬁ E.E_J).’a_” u.‘.‘.a_d
sl Gangail] iglee oY1 Tagy 311 sle st Llee Cadgig Gy pall (e oyl oy 3ah
ol ildac g sleain¥l Gildee Zog (1V-Y) Jemadly cleunn¥l aildee o dax Ul @all
@il Jso] sie sl
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(rulaall aigail] caldae fact Gyt Sl clea ¥ cildae

‘4= fact(s)

fact (@) * 2 l
1
T v - 3|
fact (@) * 3 l
2 * 1
v fact (@) * 2
fact(3) | * 4
3 *x 2 *x ] l
Y
fact(4) = 24 1

(\Y-Y) Je=d

alindl 138 Gl yiea o AN (VE-Y) Sl
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o 2 ¥l il Jasd Lanys o €] clilia (yEmy Lesie Lanylall W30 Jremtdl dlee o3
Of BayT 13 T ¢egin J5=0 (ol (Signature) adgill M e 3kl 02 o el @y caiial|
cedbalall g6 ccdlalall sae 12 G hall sl alisd o WY @u¥l uats dGaybs (e AEST Cay yal 4 g3
#1539 Lalis ] edalall iy of

1(A-Y) Ul
// Overload.java

public class Overload {

public static void main(String args[]){
sum();

sum(100,3);

System.out.println(''sum= " + sum(8.5, 4));
System.out.printin(''sum= " + sum(10, 4.2));
System.out.println("'sum= " + sum(8, 9, 4));

}

2D s D e e L i

10. // no parametrs no return

11. static void sum () {

12. int numl =10, num2 =5;

13. System.out.println(''sum =" + (numl + num2));
14. }

15. // has two parametes and no return

16. static void sum (int numl, int num?2) {

17. System.out.println(''sum =" + (numl + num2));
18. }

20. // has two parametes and return double

21. static double sum( double numl1, int num?2) §{

22. return (double)(numl + num?2);

23. }

24. // has two parameters and return double

25. // but different order of the parameters

26. static double sum(int num2 ,double num1) §
=Y.
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27. return (double)(numl + num?2);

28. }

29.

30. // has three parameters and return integer

31. static int sum(int numl1, int num?2, int num3) {
32. return numl+num2+numa3;

33. )
34.

rJEl
sexg JUELl fas 2 dasdls (Methods Overloading) 3 lall W13 Juamidl aggae JULI Taa mis g
ia ST 5Tty 2 g e Calis o Bylall o2d ¥ GEad (SUM @adl Gudd Jasi Gylo e
Zalizell edbalall cady of ccdbalall sae ccdhalall gy OV gy Toumis) midsill cilisems
O dagd g 5 Yy sl edlalae L G 4T Eo sum A phadl canpad @3 (V) placdl ao (g ol
onlalan Ll (gimd Eomo SUM @l Gudd L3 400 dGuyle canyad @3 (V1) Hlandl 25 .(VOId) g4
Bl Lyl Canyad @3 (Y1) ylasadl 2 ety .(VOId) 55 (6T co Lagd g )3 Yo Nt § 53 (o 0l cpalen s
int ¢45 ¢y Sl double ¢ 95 (e Jo¥I ) (rdsns pnlalas e (i Lgisad sum @l udy
sum  @e¥| yudh LY dasly d8ayds Canyad @5 (Y1) placdl 29 .double 55 (pe dasd 4G plall ois a5
2 1pnly .double §5i (e asd 39 dOUDLE 35 oo AL Nt g3 cra JoVI ol cylalae L s
It 93 (pe Llsn s cMlalae &S Llo Goindy SUM @l LY daals dEyls canyad @5 (V) Hlacdl

.o:,\:‘..é_ﬂ .)..a_vGAL').J‘ (KPS cla\_&)_za Q_-}_g:'(\O-Y) J&\.ﬁﬂb .int &yuﬁ@;‘vc_&ﬂj

s C:WProgram Files\Xinox Software\JCreator¥3 LEMGE2001 .exe

sum = 15 :J
sum = 183

sum= 12.5

sum= 1.2

sum=

Press any key to continue...

(Yo-Y) Jemi
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//
1 (String) | Jududly dalal| @ ydalf
S9ay 91 caldyl Bgys) characters Hgeydl (e degeme e SHlie o (StING)ije ! Jedlod
(e Bgiian JEmi e (SUNG) dujaydl Jeudleall (3Em3 domaydll @lal @lane 29 ¢3 yslaill (Runl
el Catall e Jendie oSlenss Liyadl Ludbudl f9eat java 2 ,ealy ccharacters jge 1
Alia yaly @blall fe 5l 1 inllaes Lol 3 bl (e duiall e Caiall 13a ggim String
Vi dasyls @ slential JI aaldl g (String) dje ! Jedbed) Sl Ll lestinl Ssas susly dilee
g sy Doy Aaalew (9l Cnniay filealis oty Tulaall 02 g3 o T el Lulee oy
5 J String caiall el alaseiuly alidg (String) Ljye 3l Jedlead! £65 (o clpuall can yad Liloc
: ALl JEL 2. Less (Primitive Data Types) il g65 (e ol pitia i ol aie bl

1. String s;
2. s= “Hello”;

aiall § o3 (o PLESES S jota Ling (String caiall §93 (e Syl canyad (V) Hlacdl 2 5 e
Joadly s sl 20 Lya Il Jeadbeadl 65 (0 “Hello” o Zulh Layd (2355 @5 (V) ol 29 .String
oyl oSl st (Methods) & ybadl paad 7 & (g gima (Y-Y)

30| Abuadal Jolo sl

dudwd! Job length () daykhll a5

.S 3\_1)./4).”

s.length()

('= 9 == ‘AMY:&A)LA) @J&JM%&J&‘QW

o S eyl Al &ylaey ddyhall g8
I3 Gl @3y auady £ Djepdl dlaladl
S cales 13 yhw duady t e JBl S colss s .compareTo (t)
S cols ] cage @) auady £ gyl

R A=y
el Jee  wan Al oda e s .compareToIgnoreCase (t)

-1¢ .
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db> Jleal as =1y compareTo ()

oy al 5yuain) Cagyd

£ golaw s Glss 13 true s | S .equals (t)

Gyt Jee wan dayall sda Jead
> Jleal g =ly  equals() s.equalsIgnoreCase(t)
(puss ol 3yiin) Cogpaull

Lol fuw s gl 13 true o
Dyl

t Lyapdl Al cilss 13 true ass

s.startsWith (t)

] s.startsWith(t, i)
A é’vj—“ (e ‘94—! S .%SA?}A

s.endsWith (t)

t o gl s s 1h] true uws

cdgga pu die Eomdl Sl jniall s 13| -1 flayls agst indexOf () )b J<
gyay Aealis of B ys sy o die Sl S juniall yEaang

Jals toad sag gl Jol pdge S
.S Gyl ALl

0

.indexOf (t)

st oad s Olse J5l 2250 2% o indexOf (£, i)
A sl s 8 eyl ALl

Byl usg OlEse Jol pdge pa S
8 Gyl dlealadl J30s €yl 2 oyl
Gyl dd dag ol ol Bgs a3
S Gjpa,dl Alalidl Jals € ,uill 2 sl
A el v

s.indexOf (c)

s.indexOf (c, 1i)

Byl 4l dag Ol AT adss a3
.S Lya el U5ty e il 2 o5l

s.lastIndexOf (c)

-"e.
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Ll a aa g Olsme 5T pdge g3

S Ly, dlcabiall I3 15 £ el

s.lastIndexOf (t)

String iy, deded! e s 3o 25T lilae

Bl ol & sl Byl s s.charAt (i)
.S Ljaydl Alealoall

oo let § Lpayll bl e sy 3
il iy 1 sl

s.substring (i)

oo leds 8 eyl Aalidl (e sy a3
J=1 24l g 1 34l

s.substring (i, 3j)

Sugds doay ey s L&A g string Lje ) diuleddt Lle Jooaddl culdee

2- Lo Js= s Bagur Ljey Al oL
Cagymtl J&s higmd e 8 dojaydl dledll s.toLowerCase ()

Byhis B9y ]
2- Lo Js= Gy Bagas Ay Al oL

Bgymdl JEs Jugmd das S Dja,dl dlealo| s . toUpperCase ()

Bpmss g
Aol e doas Ljay dlales (L&)

s.trim()
Aalgilly Ll e § 5Ll 'S eyl
Aol e dooas Djay dlales (L&)

leas (€2 = €l J& hud aa S el s.replace(cl, c2)

.char ¢4 e

.string ije,ll Judladl Lo g5 T cildac

el cSles 13 true Dyl ois g )3 s .matches (regexStr)
L
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Lyl iledd! Billay regexStr Lyl
dlelsss

do saods string Ljay Al <LES|
.t o regexStr J< Luds

s.replacelAll (regexStr,

t)

do s> string e, dall cLES|

.t o regexStr Jof Lus

s.replaceFirst (regexStr, t)

deded) gye 23T Gle (g9imd dagaine L]

.regexStr ;s Ciws dawia S Lja,ll

s.split (regexStr)

split (regexStr) & ,bll 2 L=
el O e due usd ae 5]

s.split(regexStr, count)

(Y-Y) Jgu>

é.'\.«.u.” (Y-Y) Jﬁ_&:..” % S;R}U &)Ja_ﬂ (da.ua ._x:'.a.ﬁ éaﬁf g_“l” (4-Y) J\ll\ﬁ

// Strings.java

1
2
3
4
5.
6.
7
8
9
0

10.

public class UseMath{

. public static void main(String args[]){

String s0="Well Come to Java World!" ,
s = "hello", t="HELLO", s1, s2[], s3;

char c;

boolean b;

int i;
System.out.printin();
i =s0.length();

:(A=Y) JLa

System.out.printin(" The length of " +"\"" +s0+"\"" +" =" +]+
"\n");

11. i=s.compareTo(t);
12. if(i==0)
System.out.println(" \"" + S + "\"" + " is — " + "\"" + t + "\"\n");

13.

-1v.
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14. else if (i<0)
15.  System.out.println(" \"" +s+"\"" +"jis <" +"\"" + ¢t + "\"\n");
16. else
17.  System.out.println(" \"" +s+"\"" + " is>" +"\"" + ¢ +"\"\n"");
18. i=s.compareTolgnoreCase(t);
19. System.out.print(" Ignoring case: ");
20. if(i==0)
21.  System.out.println(" \"" +s+"\"" +"js="+"\""+ ¢+ "\"\n");
22. else if (i<0)
23.  System.out.println(" \"" +s+"\"" +"is<" +"\"" + ¢t + "\"\n"");
24. else
25.  System.out.println("" \"" +s+"\"" +"jig>" +"\"" + ¢t +"\"\n"");
26. b= s.equals(t);
27. System.out.println(" Is " +'"\"" +s+"\"" + " equals to " + "\"" + ¢
+ "\"" + " ? " + b +"\n");
28. b =s.equalsignoreCase(t);
29. System.out.print(" Is " +"\"" +s+"\"" + " equals to ");
30. System.out.println("\"" +t+"\"" + " (ignoring case)? " +b +
n\nn);
31. b =s.startsWith("H");
32. System.out.println(" Is " +"\""" +¢s+ "\"" + " starts with \"H\""? "' +
b + "\Il");
33. b =s.startsWith("1", 3);
34. System.out.print(" Is "+ "\"" +s+"\""" + " starts with \"I\"" "");
35. System.out.println("'from position3 ? " +b + "\n"");
36. b =s.endsWith("lo");
37. System.out.print (" Is" +"\"" +s+"\"" + " ends with \""lo\"");
38. System.out.println(" ,from position3 ? " +b + '"\n");
39. i=s0.indexOf("Java');
40. System.out.print ("' Java is at position ");
41. System.out.println(i+ " of " +"\"" +s0 + '"\"\n"");
42. i=s0.indexOf("java", 4);
43. System.out.print(" java is at position" +i+"of ");
44. System.out.println(" \""" +s0 + "\"" + "', starting from position
4\n");
45. 1i=5s0.indexOf('e");
46. System.out.print (" \'e\' is at position ");

-TA -
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47. System.out.println(i+ " of " +'"\"" +s0 + "\'"\n");
48. 1i=s0.indexOf('e', 4);
49. System.out.print (" \'e\' is at position " +i+ " of ");
50. System.out.println('"\"" +s0 + "\"" + " starting from position 4\n"");
51. i=s0.lastIndexOf('e");
52. System.out.print("" Last occurrence of \'e\' in ");
53. System.out.println("\"" +s0+"\"" +"isat"+ 1+ "\n");
54. i=s0.lastIndexOf(t);
55. System.out.print("" Last occurrence of 'rl' in ");
56. System.out.println("\"" +s0+"\"" +"isat" +1+ "\n");
57. ¢ =s0.charAt(3);
58. System.out.print(" The character at position 3 in");
59. System.out.println("\"" +s0+"\"" +"is " +c+"\n");
60. s3 =s0.substring(6);
61. System.out.print (" The substring of ");
62. System.out.println("\"" +s0+ "\"" + " starting from 6 is\n" +
"\t\t\t\" " + S3 + "\"\n");
63. s1=s0.substring(6, 10);
64. System.out.print(" Substring of " + "\"" +s0 + '"\""" + " starting ");
65. System.out.println(''from 6 to 10 is:" +'"\""" +s1 + "\"\n");
66. System.out.print (" \""" +s0+"\"" +" in lowercase is ");
67. System.out.println(""\"" + s0.toLowerCase() + '"\'""\n");
68. System.out.print("\"'"+s0+'"\""" + "in uppercase ");
69. System.out.println(""\""+ s0.toUpperCase() + '"\""\n"");
70. System.out.print(" \""" +s0 + '"\""" + " with replacing all spaces ");
71.  System.out.printin("'with ';' is\n"" + "\e\t\t\"""" + sO.replace( '
v,v;v)+n\nn);
72. System.out.printin();
73. }
74. }

Gyl JeadSaadly Lol Bylall (ay iy @) alindl s @ils yime can (V) Sl
(String) caiatl 25345114
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The length of "Hell Come to Java World!" = 24

"hello" is > "HELLO"

Ignoring case: “hello" is == "HELLO"

Is "hello" equals to "HELLO" 7 false

Is "hello" equals to "HELLO" (ignoring case)? true

Is "hello" starts with "H"? false

Is "hello" starts with "1" from position 3 ? true

Is "hello" ends with "lo" ,from position 3 ? true

Java is at position 13 of "Hell Come to Java Horld!"

java is at position -1 of "Hell Come to Java World!", starting from position 4

'e' is at position 1 of "Hell Come to Java Horld!"

'e' is at position 8 of "Well Come to Java World!" starting from position 4
Last occurrence of 'e’ in "Hell Come to Java World!" is at 8

Last occurrence of 'rl' in "Hell Come to Java World!" is at -1

The character at position 3 in "Well Come to Java World!" is |

The substring of "Hell Come to Java World!" starting from 6 is
"ome to Java Horld!"

Substring of "Hell Come to Java World!" starting from 6 to 10 is:"ome "

"Well Come to Java World!" in lowercase is "well come to java world!"

"Hell Come to Java World!" in uppercase "KELL COME TO JAVA WORLD!"

"Hell Come to Java World!" with replacing all spaces with '}’ is
"Hell;Come;to;Javajlorld!"
P key t tinue... v
{Tess any key to continue | JIJ
(V1-Y) Jemd
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(dastl Cand: 1)

Actual ) idaatl eMalally (Formal parameters) idssidl cdlelall o Gpall msg 1 ¥u

.(parameters or arguments

:Lflf La_\ A}AA.E.U @bj :Yu.u
public method - i

private method- o

Aayydall e bl gl sl @ LIS e A a_gimggu:zw

Pass-By-Value ieall alasinls jopedl = 1
Pass-By-Reference (lgiall alusinls jopeidl - o

I Aaladl Fias N L asly e slae Y gooma Ol aglall (o pu
N N-1 N-2
Di=N+Di=N+N-1+)i
i=1 i=l i=1
alaieial Aslall oo Jond Ll 230 Lidas Lvali o s
g NV sleac M-
(ubﬁ..ﬂ‘) )b&ﬂ\ J.A:.-— -

G (mamenll 310e¥] Gyus) iX] opes Juolo slag¥ Lols il Laadad Lealip (a0l 1V
3X4 = 3434343 = 12: i « el lee alaiials clizy (>0 o
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S e ciles 1) false aaly s gy alued

Method Overloading pllacalls sgasll Sl aluseinls ms g )+ e

oo deleny 535 J 591 (methods) xizole e (5simg Lol 2aly Liddad Ll 3550 1)) (o
oo Joged! Aoslas o) s (Fahrenheit calgygd I Celsius Ll 550 psdl el s
o2 guleredll Gl gl
F=9.0/50 * (C+32)
Celsius g4ill JI Fahrenheit colgiyeall oo Jogmidl dlony agdi (a1 dGy,lally
@5 ] il il n asmil] putieions 21 Aslally
C=50/9.0 * (F-32)

O s Judid B lall pen) AL G lall e (g g Ll Zady Liialas Laliyy il 11 Yo

:(String) ¢ 45
JBs¥l sie Jeadl om Jendll @) Lyepdl Aladidl 20 ool sae el iyl
(ddassly

(el ol g Jadll @) Ll dlwleddl 2 ool sue wad iyl o

L ylall O (oo L s @ GUl Jadl (e dlen J0 2 clelall sue s Lyl ¢
(1) 5,831 2

2 Ly all M (e L as o3 Gl Jamdl (o e JEo 2 oym Yl sae i Agylam
@@l aledle of $all oladis g ¢ (1) 3 34!

Jead! st aladaatl soe daugia ol sy 8

aldestl et GVl sue daigio dusl dds,le-
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public class checkupper {
public static void main (String args|[]) {
char cl = '"£f', c2 = 'T';
System.out.println("Is "+cl +" in uppercase ? " +
isUpperCase(cl)) ;
System.out.println("Is "+c2 +" in uppercase ? " +
isUpperCase (c2)) ;
}
static boolean isUpperCase (char testChar) {
return ((testChar>='A') && (testChar<='7Z"'));
}

public class validateAddress ({
public static void main (String args|[]) {

String My email = "java_doc@java.net";
if (validate (My email) == true)

System.out.println("this a valid email address");
else
System.out.println("this an invalid email
address") ;
}
static boolean validate(String email) {
String name;

String domain;

A
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int index;

if (( index = email.indexOf( 'Q')) == -1) {
return false;

}

name = email. substring(0, index);
domain=email.substring(index+l,email.length());
System.out.println (" Name: " + name);
System.out.println(" Domain: " + domain) ;

return true;

public class primenumbers {
public static void main(String [] args) {
System.out.println("The Prime numbers between 1 and
100 are");
for (int i = 0; i < 100; i++)
if (isPrime(i))
System. out. print(i + " ");
}
static boolean isPrime (int test) {
if (test < 2)
return false;
if (test == 2)
return true;

for (int i = 2; i1 < test; i++)

-Ve o
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if (( test % i) == 0)

return false;
return true;

}
}

public class SwapArray{
public static void main(String [] args) {
int values[]={1, 2, 3, 4, 5, 6, 7, 8};
System.out.println("values before swap") ;
printArray (values) ;
swap (values) ;
System.out.println ("values after swap")
printArray (values) ;
}
static void swap (int a[]) {
int length = a.length, temp;
for (int i = 0; i <= (length/2); i++){
temp = a[ length - i - 1];
a[length - i - 1] = a[ i];
a[ 1] = temp;
}
}

static void printArray(int af[]) {
for (int i =0;i<a.length;i++) {
System.out.print (a[i]+"\t");

}

-Vo.
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System.out.println( ) ;
}
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:(Object Oriented Programming) SLOLSU dgr o | dzpe |

505La1 ety lBLEST) doma 0 2 bl (raggan (Objects) wlislesdly (classes) calisY jons
05503 il JELall Jomd Lauiiead] Ggualodl malys wlins oo 2 culBLEn] Lma ys aludiad 2
Lt Lyl Jundl of Lo ey Laball @lam il 2 Lonsioad| Gl Al (e iy la 5pnss
divide and ) "sas 352" Toes Taudl 1 3y (modules) 5y @ilasy | dewds 4 galiydl

.(conquer

psdy Ao maliy Llissy pamdll ashs Leie (classes) calio¥l Lo lols 51 2 xaliydl cilasg
idae @@gc (API) Lolx 2 (Lol Lasme 2 5,850l ¢lls ae sagadl (classes) calusYl einy
e dudall Lasstl sia yag) Gos J(messages) Jiladl Gyl e Bl sia o sl
A jaEslly w3 Yy JloY! cililes s Gosaill iadlasy ool ilideally agd Sill CalisY)

oY sl cldaall e

‘_xLu_a-J\ ¢ da| dgaza M@L’aﬁ\dlnw\ BLJ;-J\ cﬁ\ﬁ%&@;u@&b\_&ﬁuﬂ&ﬂ
I T e L eS| ENyRe-NYN U I RSR UL - SN T R PER- I S WA RUR § o ge-3)
2 5)keadl cclidl allad 2 Cleast) cLnalandl Loedl 20 AU Mied cdabizs olin 2 ciliiles pae

el Jaall il 2 e LEIES] cpe clId pd g ¢ adiian 2 Ganydl el 5,00

OF ey ccaiaall ) i Sull culSleall culaiall fiasy @i (dakases) B (e 5yle ot
FRVS ;\.«lul_s NN | d:s.ua\.alﬂ e Z_JJ! U.Q:u: U:"” oSl alaws =y u.\.c dalazet) 10 S g
g By 2 O pesd ilaall s Jies (Student) "Il caiall iad, (gaddl) eililest!

Q\_'L..Ld‘ 37 ol sl IRV-Y (aa d.\_u % QLvLu.c-J‘ ey alaws Jlaf (ACCOUHt) "c._aLms" La_ua_”ﬁ
Sl alazinls Leledad @i (Operation) esldeal! Leig ol p—dall calio¥1 2 Lelias @ (Data)
A o oyl S LBLESI g "Jiie” Cateall cn 831 g (V- J=idly .(Methods)

- VAL



SO Juald ! ol \¢Y ¥ qulad | Al

SLULSI g i ¥ g Slgua 1
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Jiie (class) cawall Irie caiatt e iiai (objects) alils

(1-Y) Je=i

«Class Diagram —ILs e Le JM5 (ra Sogeny JEodn calin V) Lied Lbss onn (Y-F) J<=idly
SlLl e im0l < Eaidl Cluall” Giall g Tas daren (€28 o)l 138 crg o

Account [€—! Class Name

Account no
Balance [€ bl
Last_Transaction_date  ..pata B
Deposit () Sldaall

Withdraw () <

$ A0 )80 il 9 (Class Declaration) it | e gt
(Carnall fu_u‘ Lg.a_u]:' G .class Bjj_whi‘ PN =N gz‘..\_ih_u‘ é_a_).‘a O \A\:-. il %L_"nLMS“ ) yal (“:‘f
slasl 9 @yl clacd 1 Jie) slas¥l Lol nelsall Gudad cro o oY Caiall @l HLas ! e
LIS Je 3939 95 I cAccount cainll Cayyal Lo oo (V=) JELLy lals 53 20 (5 k)
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// Account.java

1. import java.util.Date;

2. public class Account { « hdall a3

3. private int account number;

4. private double balance ; eyl i | oy e

5. private Date last transaction date; Sl
= = data

6 public void deposit(double amt) {

7. //deposit code

8. }

9. public void withdraw(double amt) {

10. // withdraw code ¢ Slelaall oy s

11. } Operations

12.| }

L

LI Gy LTl 5t Calim Y1 Can yad dulae ola JULT 18 2 das S Legs
S 1aay (ale uadg) public delssy Bgiwa (950 O (5o (class name) caiadl @by Tuid-
i @ 1 Ll ccaall 1ia e (instances) mos sLish ashy of HaT e @Y (S 4
I2a Les axss Il (Package) Laydl uad Jals Lol glo oy yaill dilec 2 public islss
- caiall 13a e (INStances) g « L] audatiod Lads g oo Caiwall
Bgne eyl o Gl Lasdl Legs g (0-Y) Har¥1 2 Leso el il Cayats T Il o @i
aiall 1an (30 Lae Jelaill (e @byl oda of G 1aay (Lol iadg) private delss,
Syl o2 pa Jolaill Lignas (Lol puen (Lo Public deleny 23suiie ciles 13 Laf (dazd
eyl uds 31y Blus¥l (la sd gl @ 13] Lal (aiuall |2 ¢e instance o sLid| aa)
sLad] aa) @lpaill ola pe Joladl audoind Laasg oo cawall 1da g as g 4l (Package)
(aiall 128 (e Instance Lecd

aall e (3yhad) esldeadt Caypes @3 (VF-)+) el 5 (A=) Jhai¥12 g-
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//
1 43LeSE Jawaed 19 (Object Creation) (LS oLl
e @ rBlio Yl ol alusial @b cass 6yl Caluol oyl @i oy LY o wa oY1y
(Caall 108 e g JE2d Sle (953 (Objects) elibles Li| 3uyb e lidg Bliv Y alusiul
P A gl e el e Ll dlae @g ¢ Grad!) cslSleadl oia go Jolal @iy Aillg
Licus 4 ya3 @3 (6200 daltinioal 31,41 Cateall g3 cya yuiia Ca pal-
SLEl sanly degie NEW ialss alimial ey Caiall (udh Ge Gids Slss elas)-
.(Constructors)
anly @ dadly legiie ad] ey @l il el alasial GSLEaTl pe Jaleill @ ol sy o=
74 @& Co> (public, private, protected, default) Jgw ol dilssal o Gplall o7 culyadl
Of §T ema’ S ep protected Jswoll danybs Lol (LI susgll 2 02 Joo sl 3)b
I e Y] ad] Joosll 5o ¥ AT e 106 protected caje 13 caiall jiie o 4 L]l
Sl s Lail Tuaugs cn (Y-Y) JElly Caieall s (e anil] Calio¥! o] dud ciye (g1 Caieall
O-F) JBU 2. dayya3 @3 g1 Account caianll oye

(Y-Y) JLs
// Bank.java
1. public class Bank ({
2. public static void main(String[] args) {
3. Account acc =new Account()
4. Acc.deposit (1000) ;
5. }
6. }
JEL 7

O g laay Account caiall §44 (pe (Sl muayd ace il L)y canyed @ (V) ol 2
sleaial aa Slssl Taa sLaak agai NEW dexdl 9 Account 45 (e il I ydn ace yaidl
oudd Jed Byb e dHlie Lo aaloldls) Account caintly iwdl (Constructors) euloldl gus|
OEole¥! jma g (NEW 335l dalenll vay 3l Sleall o Lad| e Lebile wil @y Gy caiall @l
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Jemidly ad Legin Jads G Laykall ol Legdie oSlEall eul Gligay cllyy cace o3l
.acc Bl ailigisma cr (Y-Y)

last transaction date

deposit
withdraw
r-v) J=i&

e G Garall ool pudd I 3yl e ke o Ll Lyssy Less (Constructors) el
253 Ls Ll 2248 et Ladic s «Caiuall 108 §55 (e S1En +Li] tie Leotind Camy (4
el 2l Led ellael @lildl ansind Lo ssley 5,mlill 2 oilendl 13 olene oo
S 5131 Juamtlly s L 12385 20U (e S350T e (gsims O don | Carieall (yEmasy < caiuall
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aSlalll Lol LA @ dile Catall 50y Lol cayyat @35 @ 13]y «(Overloaded Constructors)

.(Default Constructor)
((Y=Y) Jlw
/I Account.java
1 import java.util. Date;
2 import javax.swing.JOptionPane;
3 class Account{
4. private int account no;
5 private String customer name;
6 private double balance;
7 Date last Transaction_Date;
8. Account(int no ,String name ){
9. account_no=no;
10. customer name=name;
11. }
12. Account(int no ,String name ,double amt ){
13. account_no=no;
14. customer name=name;
15. balance=amt;
16. }
17. void deposit (double amt) {
18. if (amt>0 ){
19. balance += amt;
20. last Transaction Date= new Date();
21.  }
22. else
23. JOptionPane.showMessageDialog(null," the deposit amount must
be > 0");
24. }
25. void withdraw(double amt){

-AY .
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26. if (amt<=balance ){

27. balance-=amt;

28. last Transaction Date= new Date();
29. }

30. else

31. JOptionPane.showMessageDialog(null,' the withdraw amount

must be <= balance);
32. }

33. public double getBalance(){
34. return balance;
35. }

36. public String getCustomer(){
37. return customer_name;

38. }

39. }

main () Gydall sl M aiall Gle oo oo apalll LAY s M) all

// client_account.java

1. public class client_account{

2 public static void main(String args[]){

3. Account accl=new Account(12, "Ali");

4 Account acc2=new Account(12, "Fahad", 7350.3);

2

accl.deposit(2341.5);
6. acc2.withdraw(200);

7. System.out.println('"\n Name: "+accl.getCustomer());
8. System.out.println(""\tHis Balance=" + accl.getBalance());
9. System.out.println('"\tThe date of the last transaction is: " +

accl.last_Transaction_Date);

10. System.out.println(" Name: "+acc2.getCustomer());
-ANE -
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11. System.out.println('"\tHis Balance="" + acc2.getBalance());

12. System.out.println('"\tThe date of the last transaction is: " +
acc2.last Transaction_Date);

13.  System.out.printin();

14. }

15. }

JELS 7
dawsl cale 2 Lygaslly Account Jg¥! caall (onliadic ondis (pe JEL 108 2 maliydl esasy
say client_account.java ewldl Ul 2 Lssax1ly client_account 5Ll caialls < Accountjava
@ Ml client_account caiwall 313 oyally main() &bl e Gghim Eon Gl aiall

acc2 gaccl Lea Account caiiall 9 (pa (niBles canyal 40

Sazmay cdye Lgie T Catall el yudin gyl @3 (V-8) a1 2 Accountjava Jg¥l Carall 2
2 Gl e ol ydle Js=dy S @il sds aluasiul s @M1y private Jew !
cobelall san cliting (EY @u¥l udl ol Gayad & 011 Slawdlls (1-A) landl

o Lo e gsims S olas Caiall 1 Sl Eos ides il

:(Data) eubiLdi-
(account_no) cleusll @3,  -)
[(customer_name) cluil 1ia clley M1 paddl @l =Y
(balance) wlwsd! wus, -V
(last_Transaction_Date) bl le cusd Ludae ja Tyl -8
:(Constructors) esLaldi-
bl o lio @anly laamd! @3 Gl oL b - )

Account(int no, String name)

gj\_\:u\ ds 59 g\.«.u:..” ;’o\.«o (Q.A.u‘j u\.«.u:-..” {QB)J g\.«.ua ;Lﬁd:ﬁ u.'Lo - Y

Account(int no, String name, double amt)
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.(deposit) gjbj\ _x:u.a).” &gj\.m:vjidéi t_sj.z‘.ul‘t\al‘ 050 uic,ou_. coomadl idee - )
(withdraw) ,sw (pe T pasll fldl Gesmn Ol o pln¥l ddea = Y
[(getBalance) Il a3l 48 a0 ¥

o~

[(getCustomer) wlusd! colbio @l §la il

Account caiall Legdl il onn (6-Y) Jeailly

Account

int account no

String customer name
double balance

Date last Transaction Date

Account (int,String)
Account (int,String,double)
void deposit (double)

void withdraw (double)

double getBalance ()

String getCustomer ()

(¢-Y) =4

aiall 90 e il Lad] @5 (-Y) (gphu¥l 2 client_account () S cauall 2
accl (Alsall pulad gulalan J zlisy 1 AL sleutinl @ G cace2 5 accl Leay Account
il 3yb slewinl @3 (1-0) (grlana¥I 2 g .acC2 Sleall dglad wlalas & J zlisy g1 AL
o sll 7 sl Cataall il yuiie alysiomd Jsm sl @3 (1) 5 8) o] PS5 ey (Bl (e S

Golead! JEL 2 zalipdl b yime oy (0-¥) Jmiadlly Ll
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et :\Program Files Xinox SoftwarelCreatorV3 LE\GE2001 xe

Name: Al -
His Balance= 2341.5

he date of the last transaction is: Sun Apr 04 13:49:57

Name: Fahad

His Balance= 7150.3
The date of the last transaction is: Sun Apr 04 13:49:57

Dress any key to continue. ..

¥
( :

(o-Yv)J=i

—

e Luliss sale] J1 daladl s Ller Leass Ul Glim Y1 alasial sale] o gapd! ey
fgl> e 3le oo (Package) daj=tly «(Package) iy 2 LoVl ol pog (o ¥ cpas
S50 (pag Llaie Uaglys (anddl Lgians pa ddagl il 8l (0 degams le ggi3 (container)
Load 058 O ey T Eam Catin (0 Y @V udl alasinl idlena] Ll ajatl alasi
Ly Balire aja 2. Lol oka g 0f Eoad @l udd Jomi 3l BLual e yiesll

g Ol 2 @Vl it Jamy Catan (e 35T aluinl (5

gl calll Lfuy 2 package s)sm=sll Ll asgn clidg Loy ol Calis¥ cLa| Llae @9
O o eyl doea Ll dea y0ll dlee dayg cdajadl @l ic gie Bl ol Cainll o a3 (S g

@ 339390 dajmll ols (45T @f bl dajadl ola 2 class sluie¥l il clall 7434933 calisY|
.(Packages) ay=I! sLi| dilee mogn (£=F) JUlly dex il Ldec +Lgdl aay Laglas)
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// client_account.java
package java2.classes.ch3;

class A{

2 Ee sR B e e )

class B{

14.

15. public class client_account{

16. public static void main(String args[]){
17.

18.

19. .

20. }

21. }

JEl

@i Gl LYl s Gle gomi 1 (Packages) Loyad! jlaeg ol apasd @3 () Hlacdl 2
9 «Buclass  (Aclass :calio¥l s @ Gase JUEU s Les o as LELAY
dasy java2 alstl Jils sgagllg classes ol Jals 59> gll ch3 ulstl 2. client account.class
95 Jundie Cale J] Catis o Jpmins Loyl casg Calll udd B oo cya S35 33 g JELI 10 2
public ale ainss (byas ais (o 5T Lle as gl Calll o ¥ O g 52T cclass sl
JEL 10 das 3 s claladly caliomo N o (-Y) Jssildly
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- Fle Edt View Favortes Took Help ";'

I g ~ o . L
: @Back 'Y Ij /.JSearch |[ Folders || |2 | B x K’ ' % U \j
 fddvess |3 Coljawalclassesich b GE'
Folders AR 4 5 B
B ) java2 A Q’ CLASS Fle m CLASS Fle
H ) dlasses dic L5
; O s P h lient_account
# ) JBuldera ” CLASS Flle
# 1) Linkword LKE

# 1) Program Fies
# ) SVSINFO
) WINDOWS
& i ACERDATA (D))
/. DVDJCO-RW Drive (E:)
& [ Control Paed M
{ | |[#

(1-7) e

:(Inheritance) &1ypd pgge

Caiall &y Dl oia i 3T Galio (e Crio BLELEN I35 (pe ol 31 g Bls)l fulee @B
e el abgimtl s Ll (Super Class) aie Grall cavall cilbisizs suex (SubClass) il
extends 3ysmll deleall aluziuly lgians o Lol Blanal Llee @By (private) iols L
Blyell @eas ¥ Lol 431 o7 ,SMb juasdl (ag )3T il (e (ol Glaal ddae o (0-T) JLL
dadd sy Calis (e 55T &y (o e ¥ caiaall o T csaaaidl
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/l'y.java

1. class x{

Dl

3.

4. .

5. }// end of class x

6. public class y extends x{

7. .

8. .

9. .

10. }

B 7y

JS Sy My X caiall o FLAll Y aiall Caypal @F @ (o9 X caiwall Caypad oF JUL aa 2
JE 9T Gan 0¥ S oo (¥ 5oy Catially QY ga X catall O 585 O gudaiauy caibigioes
Crdiall e T aligima el @f Gomus gl JEL 28 2y oY cilaw

1 a0 S g (b plald Jguapd!
ol Gridl canall Jals yhles J=mdy (Giall olydie 2 865510 @lilully Gylall Jowmsll @
Lol Lol Gle Layall alusilly Gyl Sl pubiiad ¥ LSL €000 of oy Alsls Lyas
(1-Y) JLdly caiall 1 oy Lanall LoD &6 Y Ll s a8 clhe M| catally (private)

Byl (i) bty 3l Jpem o1l Tadio o
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// Cars.java

1
2
3.
4.
5
6

= &7 5 &

16.

17.
18.

class Transportation{
protected static int x=12;
private int y=19;
public static void meth1(){
System.out.println("'Calling meth1() from class Cars.");

}

private void meth2(){
System.out.println("'will not be called from Cars"');

}

} // end of class Transportation

public class Cars extends Transportation{
public static void main(String args[]){
meth1();
System.out.printin(x);
/I meth2(); / meth2() has private access in
// Transportation
/I System.out.println(y); // y has private access
// on Transportation

}

} // end of class Cars

:JEL CJ-‘ii

29 X piill les Catis fyiie le ggimd Transportation caiall cayyad @3 (Vo-)) Hlan¥i 2
Sle Lm:'t Gauall 13 (ggimg (private) gols yutie gag y yuilly (protected) esee it
ol Gk Loy meth?() da,klly (public) le idyb Loy methl() da,hll lea puid b
s slandl @ Camn (Cars aiall 9o B syl @3 (V4-1Y) ¥ 2 4 (private)

—I1 ¢ Transportation carall yoay ULl oda 29 (Transportation aiwnll o Cars o
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//

Guall ol Jeall aulaind j3T Helaie (a9 SubClass I ga Cars cainll 5 Super Class
laall olag) wlio s Gy @ JEU 10 25 .31 54 Cars caially oY 44 Transportation
Lol Gle dayall wlawall s Ll Cars 0¥ J] Transportation w¥1 (Gylall 9 caiall olyiie o
Y Cais 2 (nd yally meth1() dadally X il alaind &5 (Vo) ¢) g lan¥| 2 4 private Lol
phies @ (WA gyl 2 Laiy «(Cars) ¥l Caieal ognyes @3 ¥ «llyy (Transportation)
© gl aially (private) grosls Legissmn olayae Legd¥ meth2() da,hally y bl alaseiul
Goledd) JELI 2. min g0 9o Less Uas jglas @galazinl Uglxa wicy «(Transportation) as egasyas

JEL Lo ol ysea oo (V-Y) Js=idly

¢t C:\Program Files\Xinox Software\Creator¥3 LEGE2001.exe IH X

(Elling methl() from class Cars. —

Press any key to continue..._

1 | ) '
v-y) J=i

R 4 Catall ha GligEae ual aluziuly caiall J51s dayell method La,lall s Leaie
o9 Lol 430 pls Gl (mumaall (sl le a0 Dulaadl oda o oy Lo Ilia uaxg ¥ ol Yl
daad) @5 O panay this alasiol oo Sl catall e Ll 2meaill JI el ) this ,a3Ll
Lot cthis &5t alazminl Goas malipd! Gyt cawss o g (V-F) JUlly . mumeall (3l Lo

this 55l alasicd fe 34511 (A-T) JELl i s
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// C.java
1. class A{

2. protected int a=9;
3. }// end of class A

4. class B extends A{

5 void test(){

6. int a=22;

7. System.out.printin(''a = ""+a);
8. }

9. }//end of class B

10. public class C{
11. public static void main(String args[]){

12. B acc=new B();
13. acc.test();
14. }

15. } // end of class C

JEL o
8 yuiill e Jobais (V) ylacad] 2 dleadl 68 g a=22 5,0 Lo el o JULI 148 il yine ¢y3503
A Ganlt E\lﬂ a).g.:d\ LH'B test() 3.54_\).’4].1 E\:d\

:(A-Y) Jls
/I C.java

[

class A{
2. protected int a=9;
} // end of class A

=

i

class B extends A{
void test(){

Al
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6. int a=22;
7. System.out.printin(''a = ""+this.a);
8. }
9. }// end of class B

10. public class C{
11. public static void main(String args[]){

12. B acc=new B();
13. acc.test();
14. }

15. } // end of class C

:JEL CJ"i

o Jelan (V) placdl 2 dleadl 0¥ clldg (a9 1oL Lo delids o JULI 1 il e (950 Lot
dd L:giﬂ\j this gl ‘:\_xilul_} Uy test() &y, @\lﬂ a il yudg A Cainll BL’J\ a yad
Aia A carall Bland ‘d%g;m Amﬂ@m\ a ,ood ‘a\_x:'r-_lu\ ﬁ:&.wm a

Gyl of yuaia e (Super Class) aia Giddl cainlly (SubClass) siadl caiwmll ggus! 3] Lein
Gl Carall Y50y Zelamiond @i o of this ;asll alaiiel @ sl ol oda Sdd el uil
g1 @i ol (SubClass) Fridl aiwall 13 bl jasdl of G hall ¢ 9o )1 @i ila (SubClass)
ixl>dl s g . (Super Class) ais suill catall Yoy cayall il of das,all J1 Il ¥ e Sl Ly
(Super Class) 4ie Gl cavall plidl yaull of dayhalt (SubClass) siadl caiall a1 (ra g g U
a3kl al il (e 1Y (SubClass) Mol Caiaall J51s @esd) ity puiil ol Lasplal Canyad 3529 g0
> (A=) JLlly .(Super Class) aie siill caiall aligime alaziul (e L&m:\ M1y super
oo Wl 5 2 Galisd il mls o) Gus (SUPET a3l alaieial ey aladiul o bydll

RENN BN
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// C.java
1. class A{
D2 void test1(){
3. System.out.println("" The testl() method was invoked FROM class
A");
4. }
5. }// end of class A
6. class B extends A{
7. void test(){
8. super.testl();
9. testl();
10. }
11. void test1(){
12. System.out.println(""The testl() method was invoked FROM class
B");
13. }
14. }// end of class B
15. public class C{
16. public static void main(String args[]){
17. B acc=new B();
18. acc.test();
19. }
20. }// end of class C
JEL =

J= 2 ayally test]() & plall sleaial & A Caiall e G1all B caiall 2 3gmsll () jlandl 2
aiall 2 dayally testl() daydall clewinl wuusd @ yladdl faa 2.9 A Caially B caiall e
slesiad & (1) Hlacdl 2 Leig .Super ya3ll alusial Gyl e sasill s @3y (A die Grill
auall Jals & yall testl() i pball 2uas @iy Jlbg Super j&sll aluseil s testl() da !
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byl 2uas e cila 2l orn (AT) Jmally B (dis clewia¥! idee cudd g1 Caiall) sl
DB 1o 2 Cgienl

w1 (:\Program FilesWinox SoftwarelCreatorV3 LEVGE2001 exe

The test1() method was invoked FROM class A
The test1() method was invoked FROM class B

Dress any key to continue...

¥
( :

(A-Y)JEmds

:(Methods Overriding) &5g)st! 3 al! J i

(Super Class) ¥ Caio cya Big;5ll Gylall Jos dapls yuiiy Jloiiasl J) galyd] (a 2 zlions 13
(Methods  &g)all dayball Jladwl e W ¥ Ulsdl ola as (SubClass) (¥l i )
Zagylall Jgumsll JI Lzl 1305 ¢ yd o201 JEmilly &y pdall o2a iy yad sslels cllyg Overriding)
s sll 020 (e Lisles GlasY Lo SUPET 5311 aluianl (ye ¥ 951

() +=Y) Jla
// Test.java

1. class Car {
2, private int year;
3. private float originalPrice;

-4 .
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4.  // calculate the sale price of a car based on its

/I cost
5 public double CalculateSalePrice() {
6. double salePrice;
7. if (year > 1994)
8. salePrice = originalPrice * (.75;
9. else if (year > 1990)
10. salePrice = originalPrice * 0.50;
11.  else
12. salePrice = originalPrice * 0.25;

13. return salePrice;
14. }

15. // a public constructor

16. public Car(int year, float originalPrice) {
17.  this.year = year;

18.  this.originalPrice = originalPrice;

19. }

20. }

21. class ClassicCar extends Car {

22. // calculate the sale price of a car based on its
// cost

23. public double CalculateSalePrice() {

24. return 10000;

25. }

26. // a public constructor

27. public ClassicCar(int year, float originalPrice) {
28.  super(year, originalPrice);

29. }

30. }

31. public class Test{

32. public static void main(String args[]){

33. ClassicCar myClassic = new ClassicCar(1920, 1400);
34. double classicPrice =

-4v.
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myClassic.CalculateSalePrice();
35. System.out.println(classicPrice);

36. Car myCar = new Car(1990, 12000);

37. double price = myCar.CalculateSalePrice();
38. System.out.println(price);

39. }

40. }

(JEl

aiall 2.9 (Car aiall Loatly CalculateSalePrice() daiylall cayyad @& (16-0) Hlan¥7 2
Les CalculateSalePrice() &gl U1l Jue s S| Lwis! Car cainall (e 3iidl ClassicCar
(Yo-YY) ;oo 2 Cayyatl sale| ddae culy ClassicCar Caiall iceadly Lgasyad sale] 1 Lleo
Sl Lyyas! OF) et 2 sy (Methods Overriding) &g,4ll G datl Jlacials awols liag
Car caiall (pe &gyl year , uully year Glesill Jolall g juetll cllyg this ,asll alasil
JEL e 2 el dl il y3ea o (A-T) J==31

. (:\Program Files\Xinox Software\JCreatorV3 LEAGE2001.exe

LL» (] >

10200, &
3000, 0

Press any key to continue...

(A-T) et
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$ Oy

s iy Camn Geusall Glo dnlutl oaldeall Juaint Rational dewy cais (L457 1) u
s Lo le il

e simdd) nUmerator : Lea int §45 oo (private) s (oyuie rcaiall ol piie-
(plall Lle (ggiy) denominator g (dawu!
LGl el (a3 @y O o) LSlal ded clhaely maw (Constructor) ib-
a yal m@(2/4y§?@1/2&1}:’~3@9:3&n it JEoin sl
auall 1aa £ 45 e (Object) il

aies JEdn il (a9 G peeSs (red)y et i ylam

aies Sl il a9 G pess (ned)y kel dGyls -

aia JEmdn il a3y O e (ed)y o pual Ay ylam

s JSdn il (23309 (eSS Gned)y el A ylo-
(numerator) dawdl Jisd a o a/b B Y580l (g pussll @301 de bt 45,0 -
.(denominator) alat! fi3 b o
dosad! dacady iy «(float) aa> @) J5md Lle sl @301 delidal 45,k -
Al e

el 138 aniin galiy cassl &

9 length LIl wlpadl e goima Cuso (Rectangle dewy pye Jim i (807 1 ¥

Bgdne aluziuly clldy \.p.#é o sae St Hugelnteger e cain 857 : Y
Simyy @20 1 @lils e sualy Bl Lle goiog pdge JS pdge ona)l oo digsae
H(Caall 11 Gulaid maliy cassl) (bl 5yl e Caiall s
Aagawntl ) l.u-,.:..&d\ remall @311 JsY inputHugelnteger 45, yati-

-44 .



SO Juald ! ol \¢Y ¥ qulad | Al
SLULSI g i ¥ g Slgua 1

//

RUAWA| TS \»#&11 romall 03,11 ie it outputHugelntege i, yall -

l.x; O (nmmis (ade sext addHugelntege G, bl -

l.x; OpEs (s (e rylat subtractHugelntege 46, latf -

roslcia Tus Gupis crmumis Goaie BlEs 13] Led Jlsealt isEqualTo s plali-
ragbadia jue BLss 13] false pa )39 craglenia BLES 13] true aon )5 o Y al

e ST Jo¥I b ausdg oo all aaaall o 8410 1sGreaterThan ia yatl -
saall (e piEnl J9¥1 memaall saall Gles 3] true aayd Cums oY Al GG
i e plss 1] false pa 39 AL s sall

L pailasd] dly Date e G gkl Jiedd Catis 20T £
I Ol as b s 2 s @
MM/DD/YYYY

April 01, 2004
DDDYYYY

o oyl 21l L Jamd lBles oLy aloll) s Jeamtl] il -
b)) Jlesid

wcaiall s ¢ oh (e Bl ansiin mali o cassl &

imymmio alB)T Gle Catiall 138 e (Al (S5 (g Cums IntegerSet eww caiw (80710

£90 (a ABgdincss Lty Gl laeYl icgema Jiad @iy Vv 9 yaall o

oo 1 @@yl essn true J Lglee afi] agaall jaic iad (5355 Leaiey «boolean

dgaga yut ] @)1 95 false (gglud aj] juniall L il 13] Lo cde gaanll yolic

O T ¢l Lo degame sLaih idend Jolse af pudd @1 LI aging ie gandl ola 2

Gl Gl caiall 1as ggimg Less false iadbll Lle gsisd dogamnll yolic puex
il

idee 288 m3b Lle ggumd B degazme (&3 unionOfIntegerSet 44 lail-
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2uald il Gle ggusd Bl degeme foai IntersectionOfIntegerSet da )il -
e gazma O pbolad| dylac

e gt I K yniall cat insertElement 44y, -

e gesdl e M pniall (i3 deleteElement 44 ydall -

ie genll cilss 15 “Empty Set” adaiy de gammd| cibigizma aulad setPrint d& ylatl-
2 ls

N al omglacia Bles 13] Led ontie gazme (o o)La5 ISEqualTo &,y dati-
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